Hl = O & AFSE S Ml A
2023 20 LBHE| N S| SHH
SA =S
MM SE2X| JHEE(SEUNLTA/ Y - 55)
ool ZArzel (Crol: X2l
S - EE - 9I(30) - HIRAI - BES ol &kt ] B2t
=21 SHIEH 93,629,314 71,705,7% 21,923,519
= 6,112,711
= 3,240,000
p] 22,997,762
[ 11,621,103
Al 46,465,438
o 2,088,000
= 1,104,300
=Z2] J|HEE (SN YA/ =Y - 5F) 20,238,572 14,693,283 5,545,289
= 725,120
= 980,000
[ 5,703,485
Al 10,741,967
cH 2,088,000
Atz 121,717 121,009 708
AL 2 xpeRe 121,717 121,009 708
201 LB 121,717 101,009 20,708
01 AlR2r2lH] 19,628 8,680 10,948
OHAL 22|22 7o 9,600
—SclAI= 10,000 *3E+ 122 360
—HSHZEH 10,000 *3= 122 360
—HAES 20,000 +5Z 128 1,200
—3iEta ZRIRE
20,000 248 A %122 1,920
—2t&7 30,0002 «8IH Ax 128 2,880
—SHCElE 30,0008 A 122 2,880
OsYII=HE 2IHFI| ZEH DA
110,000 %36 CH 3,960
OFAH HIH Xtz 18,0002 %23CH* 122 4,968
OZ=2= 22X 1=l
100,00024% 112 1,100
02 2229 102,089 9,329 9,760
oglz| 4,431
—ENla U 4,431
U 1,330+ £ * 1202 *3LH 3,831
S| 200,000 *3CH 600
OXtaH eI (21CH) 42,528
—4547(58LBR) 2,500,000+ 1CH 2,500
—1682(ZE S8, 2R) 2,500,0002*1CH 2,500
—4724(52, 3 2R) 2,000,000+ 1CH 2,000
—9804(58,3R) 2,000,0002*1CH 2,000
— 4S8, FLR) 2,000,000 % 1CH 2,000
—9767(28,3R) 2,000,000 % 1CH 2,000




2A: sJIs4H

HE: SESX| JBEHE(SYHYSM/SY - SE)

&2l FAR2e (Crel: M
SA - FH . SRI(B) - HIRAY - BAS il b ] Hl D=2
—RM3(52,8R) 2,000,000+ 1CH 2,000
—3405(ABSI2, HR) 1,500,000 % 1CH 1,500
—2027 (ABSI2, 2R) 1,500,000+ 1CH 1,500
—5082(AB5t2, AR) 1,500, 00024%1CH 1,500
—6209( AEEI2, ER) 1,500,0002!*1CH 1,500
—838(A 2, ER) 1,500,000 % 1CH 1,500
—1272(AE52, AR) 1,500, 00024% 1CH 1,500
—2185(A 52, AR) 1,500, 00024*1CH 1,500
—4155( ABSI2, 2 R) 1,500,000 % 1CH 1,500
—2A(ABGIZ2, HR) 1,500,000 % 1CH 1,500
—6407(AEEI2, ER) 1,500,0002*1CH 1,500
—6583(&D|5l2, =4t
1,500, 00024*1CH 1,500
—7309(HOHB LA, II= L= R 2) 3,420
=] 1,500,000+ 1CH 1,500
FLR(UAI| IIS)
1,92024%20 £ *503] 1,920
—3330( A E3I2, =Y ARIY) 3,804
= 1,500,00024%1CH 1,500
FLR(UAI| IIS)
1,9202%20 £ *603] 2,304
—3330( A, JI=RA I 3,804
e 1,500,000+ 1CH 1,500
FLR(UAI| IIE)
1,92024%20 £ *603] 2,304
ozgxe HIIEHA 30,0002 %21 CH 630
ODEE2 SIS 72 L 5l0IHA &
100,000&4*21CH 2,100
OAIEZH| S| 15,880
—SOIZHIAIAE 82 7,080
AL 200,000 %12 2,400
| 90,0004% 12 1,080
- AEE 150,0002* 122 1,800
COER =90l nsw
150,000 * 122 1,800
—HACCTVAH| S| 500, 0002 *23] 1,000
—HIIAlE X 150,000 * 122 1,800
—HAF WL X224
1,000,00021% 14! 1,000
—EHAb AZAIA 2] 500,0002 %23 1,000
—HAL B EH 2,000,0002%23] 4,000
OFA ABAIE BHE) ST
800,000 %13 800
OFA ABAIE BEHUFH
800,0002*13] 800




2A:

=PIl

H: SES] )HEE(SUHLM/5Y - SE)
Sl BARC (Ctel:ze)
SN - FE - SRI(EH) - AIRAMY - BN ol aro ] HIDE2
OFAb A 29 1,500,0002* 122 18,000
OBAM MEX Ha
300, 0008 % 1§ A#23] 600
OFA &= 900,000 %1235] 10,800
OEA HIH A= 20,00024+23 0+ 122 5,520
S NE! 15,229,574 13,330,727 1,898,847
= 543,200
= 980,000
[ 4,127,275
Al 9,579,099
FRAFAREX 13,500 13,500 0
203 L2EZIH| 13,500 13,500
03 Al =R =AY 13,500 13,500 0
OFQAIE ST
4,000,0002* 14! 4,000
Osolaly qR=r
3,000,0002* 14! 3,000
O=&M HRFX 2,500,000 %1 Al 2,500
OZsB=Y 2l 2=
1,000,000 % 14! 1,000
OF4 2t g8 1,000,000 14! 1,000
OSEXNCHY A2EA
1,000,0002* 14! 1,000
OJlsig gR=a 1,000,000 14! 1,000
=482 0IXEA 350,000 350,000 0
307 2I2H0I& 350,000 350,000 0
08 OIXIEXS 350,000 350,000
O=UEN2 012X
350,000,0002* 14! 350,000
=Jt IAS FX 246,572 244,082 2,490
201 LB 27,692 25,292 2,400
01 AF22t2IHI 11,900 9,500 2,400
O8N E22 ME 3,000 8005 2,400
OANEEER &40 H= 60,0002 *40 X 2,400
OR4z=S4te 228 252 29
25,0004 10074 2,500
OsUsE 2 AIZAY FEHAIO|G| EtAlzg
70,0002+ 15 *23] 2,100
OsAUEEIZ2IAAL DI HZ
25,0002 * 100213 2,500
02 2229H| 15,792 15,792 0
OsUBRZHIAAH S 24
1,316,0002* 122 15,792
301 LEEXNS 2,880 2,790 0
11 BALAHIXIS 2,880 2,790 0




2A:

=PIl

M SESI IS (sENLSN/ s - SE)
el SIHAIA (crel: M)
S - EE - 9I(30) - HIRAI - BES ol &kt ] B2t
O=20 g ¥ 35 AKX ot
90,0004 x4 263 2,160
OsEx 1 2 98 &K 24
8,0002*90H 13 720
308 RXISHHSO0IA 216,000 216,000 0
07 RXISHZIEE2 216,000 216,000
OZAEE s0iEFE)|IZ2 BE2
216,000,0002*13] 216,000
ARsAS LA 8,000 0 8,000
201 LB 6,200 0 6,200
03 AL 6,200 6,200
OXR=AUsY A3S A 5,200
—H3a5 288 ¢ 500,000 %23 1,000
—23g 42 L DI KO
500,000 %23 1,000
—201g M2AR
400,000 x4 H*23] 3,200
OXR=ARH DKW 4
5,0002% 100223 1,000
301 LBIEAZ 1,800 0 1,800
11 AR X2 1,800 0 1,800
OXR=ALMADS| 295|0| AR AlCY
8,000 4553 1,800
(2)=243Y A9 30,000 45,000 A 15,000
= 18,000
[ 3,600
Al 8,400
307 2I2H01A 30,000 45,000 A 15,000
= 18,000
[ 3,600
Al 8,400
02 DIZEAMAIRIE R 30,000 45,000 A 15,000
OsUAYM FHALEY X
30,000, 0002 *2IH A*50% 30,000
= 18,000
[ 3,600
Al 8,400
(2)FE=0l I=H T2 563, 130 492,914 70,216
= 394,200
[ 50,680
Al 118,250
307 2I2H0IA 563, 130 492,914 70,216
= 394,200
[ 50,680
Al 118,250




2A:

=PIl

Do mE=L OB (SYHL S/ S - 5E)
el SIHKIR (chel: & 2l)
S - EE - 9I(30) - HIRAI - BES ol &kt ] B2t
02 QIHEAMAMHEL 563,130 492,914 70,216
OHU=l0l A=Ha K|
563, 30,0002 % 14! 563, 130
= 394,200
L= 50,680
Al 118,250
(R)HH=o IsF=AAA LAY 18,000 14,000 4,000
= 9,000
& 2,700
Al 6,300
201 et | 18,000 14,000 4,000
= 9,000
L= 2,700
Al 6,300
01 At22teld| 18,000 14,000 4,000
OBAs0l HsHE H2 U BTN 2 X2
18,000,00021%1 4! 18,000
= 9,000
& 2,700
Al 6,300
(D) sERSHEH2I XA 76,000 60,000 16,000
= 38,000
& 11,400
Al 26,600
307 2I12t01 & 76,000 60,000 16,000
= 38,000
& 11,400
Al 26,600
02 QIZHAAAIIE X 76,000 60,000 16,000
OsERsHYH 2ZXA
76,000,000 * 1A 76,000
= 38,000
& 11,400
Al 26,600
(Z)sHEXY AHB2Y X 16,000 16,000 0
& 4,800
Al 11,200
307 2I2t0 ™ 16,000 16,000 0
& 4,800
Al 11,200
02 QIRHAAAIEE X 16,000 16,000 0
OSEXY Aol B2 2% X8
20,000, 0002 * 174 A80% 16,000
& 4,800




2A:

=PIl

M SESX| J|BES(SEHLSMN/ S5 - SE)
@l sIHAA (CHo: X 2l)
SN - B SR(3H) - MBAR - BYS ofl Ao ] HIS2
| Al 11,200
(2)=sII=<0[K2 19,200 10,656 8,544
[ 5,760
Al 13,440
301 LBIEA3 19,200 10,656 8,544
[ 5,760
Al 13,440
14 BB A2 19,200 10,656 8,544
OBASIIEEE20| XY
8,000, 0002 *324*80% 19,200
[ 5,760
Al 13,440
(S)ZE010X SIHASE XL 8,000 16,000 8,000
[ 2,400
Al 5,600
402 QI2FXHE0| & 8,000 16,000 8,000
[ 2,400
Al 5,600
02 D= A E X (01X THL) 8,000 16,000 8,000
OZE0/|0K} SIASE S
10,000, 0002 * 124 %80% 8,000
[ 2,400
Al 5,600
BEEENEEER 5,635,7% 5,242,053 393,742
[ 1,417,000
Al 4,218,795
307 2I2H0IA 5,635,7% 5,242,053 393,742
[ 1,417,000
Al 4,218,795
05 DI2IRIE=2 5,635,7% 5,242,053 393,742
OsX2 ilgsa X
5,635,795,00021%1A! 5,635,795
[ 1,417,000
Al 4,218,795
CAIEE ZAAY 24,620 18,628 5,992
201 L2 % 11,120 2,500 8,620
01 AlR2r2IH] 11,120 2,500 8,620
OZAISE AIREE S 7Y 11,120
—SAISE JI3RD| Jlo|EE HIE
10,000&*250 2+ 18] 2,500
—CAISE QaHET FI RS
120,00024x6 13| 720
—CASY ZAMG EA MR L g
30,0002 %250*13] 7,500




A

=PIl

I SESX J|HEE(sHENLSA Y - 55)
el SIOHE (EERSED)
S - EE - 9I(30) - HIRAI - BES ol &kt ] B2t
—CAIEE 88 &40t 19
400,000 13 400
206 XHEH| 4,000 5,800 A 1,800
EED 4,000 5,800 A 1,800
OZASYE X4 U QX 2L 4,000
—S2A I A 100,000 %252 2,500
—JIEt sXH L 500,000 %3] 1,500
301 LEEAS 2,500 2,500
11 #ALAHIXIRS 1,500 0 1,500
OZAISE &AL AT} CH 2
3,000%5002* 13 1,500
14 J|EI2 A3 1,000 0 1,000
OZAISE QAHET AlAS 1,000
mES R 300, 00021 300
—%= 200,000 *2H 400
— =t 100,000 %32 300
401 ANEHI 22 7,000 3,000 4,000
01 Al&H] 7,000 3,000 4,000
OZAISE A2 21324
2,000,000 % 14! 2,000
OZASY B8 HFH 2
5,000,0002 % 14! 5,000
(€)=ol oHETHHEE 163,667 158,854 4,813
[ 49,100
Al 114,567
307 2I2+0|& 163,667 158,854 4,813
[ 49,100
Al 114,567
05 QItES 163,667 158,854 4,813
Osool otMTsHE s E XIS
572,833,000 *1A1%28 .57 14% 163,667
[ 49,100
Al 114,567
BEELFEERIEESRNE 15,000 0 15,000
[ 4,500
Al 10,500
307 2I2+0| & 15,000 0 15,000
[ 4,500
Al 10,500
02 QIFABAAIIE X 15,000 0 15,000
OX2HHESS HEAX
15,000,000+ 12 15,000
[ 4,500
Al 10,500




A

=PIl

I SESX J|HEE(sHENLSA Y - 55)
el SIOHE (EERSED)
S - EE - 9I(30) - HIRAI - BES ol &kt ] B2t
(D)E=sE sS4 30,000 40,000 10,000
[ 9,000
Al 21,000
402 QIZHRH=0[E 30,000 40,000 10,000
[ 9,000
Al 21,000
02 QI N2 A E X (01 HTHS) 30,000 40,000 10,000
OFE=sR s4X# 10,000,000 3% 30,000
[ 9,000
Al 21,000
(£) A SIS R T O ZH| X| 6,250 7,500 1,250
[ 1,875
Al 4,375
402 QIZHRH=0[H 6,250 7,500 A1,250
[ 1,875
Al 4,375
02 QI RFE A E X (01 HTHL) 6,250 7,500 1,250
O &S0l SEABOIAH| XA
12,500, 0002 * TAI50% 6,250
[ 1,875
Al 4,375
(2)sZ ANERZHATAIY 1,400,000 0 1,400,000
z 980,000
Al 420,000
307 2I2+0|& 1,400,000 0 1,400,000
z 980,000
Al 420,000
05 QIZtQE=S 1,400,000 0 1,400,000
OsE MEAZYAAY 29|
1,400,000, 0002414l 1,400,000
z 980,000
Al 420,000
SE AEAZHATALY 72,440 72,140 300
101 Q124H] 72,140 72,140 0
M IIRIR22ISES 72,140 72,140 0
OSE ABSZAANS AFR2E 0124H| 45,120
—Jlz=2 3,000,000+ 122 36,000
—oixaZ g 25,5002« 20 A1 2t 128 6,120
—g=3 3,000,000 %1% 3,000
OsE ABEZAAA AIRS 0121H| 27,020
—Jl2s 2,000,000+ 12& 24,000
—gyI22re 17, 000R*5 A2 128 1,020
—g=3 2,000,000 %1% 2,000




2A:

=PIl

B sE=R OMSE(SYHYS Y - 5E)
@l sIHAA (CHo: X 2l)
S - EE - 9I(30) - HIRAI - BES ol &kt ] B2t
201 LEt23| 300 300
01 At22teld| 300 0 300
Os& MEABANNY M OHBE 79
150,000 x2H 300
(Z)s02 =& Xz XA 6,362,400 6,254,400 108,000
= 2,544,960
Al 3,817,440
301 LBtE&Z 6,362,400 6,254,400 108,000
& 2,544,960
Al 3,817,440
14 JIEIE 43 6,362,400 6,254,400 108,000
Os0el =& XA 600,00024 %10, 6042 6,362,400
& 2,544,960
Al 3,817,440
(AN = 843 X2A 120,000 0 120,000
= 84,000
& 10,800
Al 25,200
307 212t0]1 & 120,000 0 120,000
= 84,000
& 10,800
Al 25,200
02 QIHAEAMAMAEE 120,000 0 120,000
OMEIX =9 245 N
60,000, 0002 *2I0 2 120,000
= 84,000
L= 10,800
Al 25,200
SSHAMSIHEED | 22,000 0 22,000
207 AN 22,000 22,000
01 g1E4d| 22,000 0 22,000
OEE WESIELI pIER=EELS
22,000,000 14! 22,000
(2)3Es90l =X LUE XSA 29,000 0 29,000
& 8,700
Al 20,300
307 2120l ™ 29,000 0 29,000
= 8,700
Al 20,300
02 QIRHBAAIEE R 29,000 0 29,000
OFEsY2 =X gz XA
58,000, 000 *141x50% 29,000
& 8,700
Al 20,300




A

X XH -
(=

=PIl

A
ciell 2mE 9= mo @eol =48 (cio: 2s))
S - EE - 9I(30) - HIRAI - BES ol &kt ] B2t
2HA Q= =9 MR 24 208,190 257,070 48,880
=QI0IS2 A ALY 208,190 257,070 A\48,880
201 LB 3,440 3,440 0
01 AlR2r2IH] 2,000 2,000 0
OFH=2AIYE 22IRE 22
400,000 +5% 2,000
02 2224 1,440 1,440 0
OFdsRAIYE 2% M)|IQE
120,00024% 122 1,440
301 UBtE A= 3,150 4,830 A 1,680
TENEREE 3,150 4,830 1,680
OZ2=0IAIZIES] M= - CUH5| &AX O3
90,00081%3524*13] 3,150
307 2I2I01A 168,000 215,200 A47,200
02 DIZEEAMAIIE R 168,000 215,200 A7, 200
OXYUs s NSUAE HEX(BEE 80%)
3,500, 0002 30 *27H A +80% 168,000
308 RXISHHSO0IA 33,600 33,600 0
11 I 2ASOICHEHEZ A E IEL AL 33,600 33,600
OUS=0IAIZSED FDASXUE DSH| X
1,680,0002 %20 33,600
REEY 4,679,091 984,477 3,694,614
= 181,920
o 1,576,210
Al 832,961
oH 2,088,000
=oFYol 84 78,350 61,350 17,000
201 LB 2,100 2,100 0
01 AlR2t2/H 2,100 2,100 0
OsABAC! AIRAUIAX MF AREOE| AlojLE
70,0002 %15 *23] 2,100
301 LBIE A= 29,250 29,250 0
TENEREE 29,250 29,250
O=ABA0 NS A0
90,00021%352i*13] 3,180
O=ABAQl Fot - TEAL ZA01H|
90,0002 %352 x5 6,300
OAIREY =0HA0 Y - & M2WS ZHA0H|
90,000 *202H *23] 3,600
Os=AZBA0 MR35 FHA0H
90,0002 *90% x5 16,200
307 2I2H0IA 17,000 17,000
04 DIRFHAFAIZ B X 17,000 17,000
OXZ OS=A2 TAl L ZBHA(ZES 80%)
7,500, 0002 % 13]x80% 6,000




2 s2)|s4H
M SESI IS (sENLSN/ s - SE)
cHel: ol2igA (Ctel: ®M2)
S - EE - 9I(30) - HIRAI - BES ol &kt ] B2t
OZAEE LESM2SHAl 2 ZTSEAHEES 80%)
6,250, 0002 % 13]x80% 5,000
OF2 AIRBYOINES| HIHZH nEHAL
(BES 80%) 7,500, 0002 % 13| +80% 6,000
402 QIEXHE0[ A 30,000 30,000 0
01 DIZIXHE AN B X (XA THE) 30,000 30,000
OXYES L JsH 2L XA (BXES 80%)
37,500, 0002 * 1A1%80% 30,000
=08 s20l |4 18,200 8,400 9,800
301 LEHEAS 6,300 2,700 3,600
ERERNEE 6,300 2,700 3,600
OO0 =0l M2 - TE9 2UHY IS
401l 90,00081%302*13] 2,700
ONA =0l M2 S5 ZAX O
90,0002 x40 13 3,600
307 2I2t0|& 11,900 5,700 6,200
02 QIFABAAIIE X 11,900 5,700 6,200
ONA sl =AX|210| NEEA T2 29
(EX2 80%) ,375,00024%13]%80% 2,700
ONA =0 IF=Q 5|USD| X(BXE 80%)
3,750,000 % 13|+80% 3,000
OO0IRA SALEED| AL IR (2XS 80%)
3,750,000 x 13| +80% 3,000
OZF=A AHIEX AL X (EES 80%)
4,000, 0002 * 13| +80% 3,200
=015/° 58 2284 19,500 4,050 15,450
301 L2 S 4,500 4,050 450
IERRERNEE 4,500 4,050 450
OFesol 84 XS oY)
90,000&*502 13 4,500
307 2I2+0| & 15,000 15,000
02 QIFAAAIRIE X 7,000 7,000
OZ AR SAD13)| X (EXS 80%)
3,750,000 % 13]x80% 3,000
OUEHY SZESAES N (EXE 80%)
5,000,000 % 13]+80% 4,000
04 QIZFSHAIAIRI B X 8,000 0 8,000
OXY=AZ2 AHIEE HAHEEZE 80%)
5,000, 0002 x 13| +80% 4,000
OssSHe 282 2 ZIAEH 2Y(2XS 80%)
5,000, 0002 * 13| *80% 4,000
= QIO LA 40,000 0 40,000
307 2I2+0|& 40,000 0 40,000
04 DIZFHATAIR B X 40,000 40,000
Osolold AKX (EXS 90%)
40,000,0002 % 14! 40,000




A

=PIl

O sE=X S (SYHRYLN/ 5 - 5E)

ol olEgA (ol xi2l)
S - EE - 9I(30) - HIRAI - BES ol &kt ] B2t
EEREREEEEEy 20,000 20,000

307 2120l 20,000 0 20,000
04 CIFATAIS B X 20,000 0 20,000
O=HAQ II=SIaA N (RES 80%)
25,000, 0002 %13/ +80% 20,000
(£)8=204 sdoIss 156,000 162,000 6,000
= 46,800
Al 109,200
307 2120l 156,000 162,000 6,000
= 46,800
Al 109,200
02 DIRIEAAIEE 56,000 162,000 6,000
O0iA =20l #=HILH X2
150,000+ 1,300 B80% 156,000
= 46,800
Al 109,200
BEEEEENEEIE] 103,082 100,512 2,520
= 30,910
Al 72,122
201 ZEr2 S| 103,082 100,512 2,520
= 30,910
Al 72,122
01 Al=22lt] 103,082 100,512 2,520
O=glol X P2 103,082
—sTNE 6,500 1402+ 124 & 10,920
= 3,276
Al 7,644
—S2=0{01M2
7,60024%1,0105* 12042 92,112
= 27,634
Al 64,478
BEREEEEERE R 105,840 0 105,840
= 52,920
Al 52,920
101 1 A6] 105,840 0 105,840
= 52,920
Al 52,920
B EEIN=TPS 105,840 0 105,840
OMEE Hats gxiel Al 0|23
2,510,00024+324* 12042 90,360
= 45, 180
Al 45, 180
OMZEE 22s UX2| AR AUBER(0IBRLS)
350,002 3 * 12042 12,600




2A:

=PIl

M SESI IS (sENLSN/ s - SE)
ool oESd (Ctel:ze)
S - EE - 9I(30) - HIRAI - BES ol &kt ] B2t
= 6,300
Al 6,300
OXEY Fats AN AFY DES X
10,0002 %85| x32 1204 2,880
= 1,440
Al 1,440
HEEsA=ATAME 222 212,819 202,415 10,404
101 Q124H] 18,471 17,588 883
M IIIR22NEES 18,471 17,588 883
OHMBE SUEAXME SHQIR (&L U A
2el) 76,9604 x22* 1202 18,471
201 L2 A 122,548 119,327 3,221
01 AFR2t2IHI 21,780 21,420 360
O] 17,700
—Qlz= NSM DS ME
10,000 +75 2 %25 1,500
—NSM HOAL ARE 1
80,0002 %10 800
—W=sES M| 2,500 %405 %153 1,500
—As - AE AR TAHRY
50,0002 %102 500
—A=24E 2L 40,000 %5} 200
—NEAUY IsA FRE NE
10,0002 %20 %43 800
—ZAHEl SHOIX 221l
300,000 * 122 3,600
—F4I| 22| 30,0002 11CH« 128 3,960
—EATKHE Ot 2123 HIE
5002*2,0005 1,000
—SAYS AHE S 40 HH
60,0002 %10 600
—HATD Y 2EDQ
10,0002 %55 12¢ 600
—3lEA 2ARIBRE
20,0002 +6Z+ 1274 & 1,440
—Eg OE HE 20,00024*20H 400
—JIEME %2l 80,0002 % 10 800
oYtz 4,080
—EXAS U HBEEXY U AXE
600,000 1CH63 3,600
—SEAS U S OI#R 2H
2,000 *402 63 480
02 2229 83,968 81,107 2,861
02223 2 MAl 56,860
—&JIes 2,800,000212& 33,600
—ABIAE 232 450,000 * 122 5,400




2 s2)|s4H
M SESI IS (sENLSN/ s - SE)
SRl olsad (Cro|: &)
SA - FH . SRI(B) - HIRAY - BAS il b ] Hl D=2
—dEtlE 50,000&!* 12 600
—QIgYl SAIR3 450,0002%12€ 5,400
—HJ|otMBR|hE a2
470,00024* 12 5,640
—ABIAIEOHH BRI S 42
168,300 %122 2,020
—HI| A 22
1,000,000 13 1,000
—Q4HRIE 22HIZ
250,000 123 3,000
—UE)| F)|AAF 42 2 BEE
200,000 % 14! 200
O | 2,408
—5122(500) 1,9202%500 £ 960
—d:(20) 1,81021%800 £ 1,448
OAIEZH| S 20,700
—AEEHISXH(HAZ, M|, JIH S)
1,250,0002* 122 15,000
— B AHl X2
100,000+ 12 1,200
—ISM =2 AlSXe
4,500,000 % 14! 4,500
OZSASE S ALdSXZ2H(AER, 2,
522 5) 4,000, 0002 % 14! 4,000
03 A2 | 16,800 16,800 0
OFAHMEl SXICE L A FX S SIINS
o2y 29 16,800
—gl BHE 400,00024%203| 8,000
—100H2 nH 2,200,00021%43) 8,800
206 M=l 16,400 16,400 0
01 2HI 16,400 16,400
O2E Masd L S22 WPy 7,000
—=0F H2, §Hl S
10,0002%35+ 150 4,500
—=J|7 P&, B0/, ol )
10,0004 *55+50 2,500
O3S Aa=X sUHE 48 W27 9,000
—ZEH ASsE(4,000m)
3,000,000 % 14! 3,000
—Z=H AIABISA(1,000m)
6,000,0002 % 14! 6,000
ORHME TF22| HaPY 400
—s=9 |2 S 10,0002 x2Z+203] 400
301 LBIEAZ 55,400 49,100 6,300
ERERNEE 11,200 11,200 0




SH: S
HE: SESX )BEHE(SYHYSN/SY - S&)

oo olss ~ ~ (ol @z
SA - B . SIS - NRAY - BaS Oflare ] D=2
OZAHE CHINE T2 )2 AKX Al
7,0002 x40 *403] 11,200
14 J|Et2 A2 44,200 37,900 6,300
OFs HARANE 22 2 18,900
—Jl=g 150,00024* 1Al 2++403] 6,000
—x02 80,0002 *3A12H303] 7,200
—duis 100,00024%303 3,000
—Z Ao 90,0002+ 12%303] 2,700
O%24 FH| LAl X2 L ZIIE L AU
NE=! 180,000 * 102+ 10JH & 18,000
OFs0lol & HER AUz X
75,0002 %7+ 12J4 & 6,300
OFsQ SIte | XA
500,000 2550} 1,000
=0l NME 29 108,350 55,750 52,600
201 LB 1,400 1,400 0
01 AFR2+2|H 1,400 1,400 0
OFSHEXR L AHACIRIRAS| SALT
70,0002 x5 %43 1,400
301 LBHEAS 24,950 24,950 0
S E=EIE =] 10,000 10,000
OFsol X &2 X
1,000,0002%10% 10,000
11 SAAHIXIR 2 4,950 4,950 0
OFs0 NE ZIIK HHI(E, 5)
90,00024*202*13] 1,800
OFs0l SXES XD S 0]
90,0004+ 1513 1,350
OFs - HEQ SKXNES 4K GHIKS
90,0002+ 1023 1,800
14 B2 A3 10,000 10,000 0
OFs0! 0lAIHIZ X
1,000,0002%10% 10,000
402 QI2EXHE0| & 82,000 29,400 52,600
01 DI AR B X (XA THL) 82,000 29,400 52,600
O SHEQ! FeH2p|H| NAIS(BES 70%)
6,000,000 *10Z%70/100 42,000
OFs0 BEXH(ZEES 80%)
5,000,000 * 10Z+80/ 100 40,000
(2)Hs H=EX2 16,000 52,000 36,000
[ 4,800
Al 11,200
402 QIFXHE0[ & 16,000 52,000 236,000
[ 4,800
Al 11,200




2A:

=PIl

B mE=T OMSE(STHL Y - 5E)
ool oESd (Ctel:ze)
S - EE - 9I(30) - HIRAI - BES ol &kt ] B2t
02 QIR 2 A E A (OIX A E) 16,000 52,000 236,000
070l Hatxe
5,000, 0002 *42%80/ 100 16,000
& 4,800
Al 11,200
(2)HsHERX XA 258,000 338,000 280,000
= 129,000
& 38,700
Al 90,300
101 @I244| 30,000 29,000 1,000
= 15,000
& 4,500
Al 10,500
04 JIZtNI22 RS2+ 30,000 29,000 1,000
OA=sHEXNREH AR 12|
25,000,000& 15 25,000
= 12,500
& 3,750
Al 8,750
O=s&PE & sXEET AL eI24t|
5,000,000&*1 5,000
= 2,500
& 750
Al 1,750
201 et | 68,000 68,000 0
= 34,000
& 10,200
Al 23,800
01 AtR2eld] 22,000 22,000 0
OEAR sERX 822 ME
5,000,000&*4& 20,000
= 10,000
& 3,000
Al 7,000
OA=sHE KNJEEH AMRA 29|
200,000 * 10742 2,000
= 1,000
& 300
Al 700
03 A2 46,000 46,000 0
OFsSHELY MEFOH ¥ JXI LEa ot
,600,000&*102! 46,000
= 23,000
& 6,900
Al 16,100




2A:

=PIl

mu mE=R O|BEE(SEHYAN/ 5 - 5E)
S OR=d (Ctel:ze)
S - B - ORI(3]H) - HISAR - BaS Ol kot ] HIDE2
202 44| 4,400 5,400 21,000
= 2,200
& 660
Al 1,540
01 =LHO4Y| 4,400 5,400 A1,000
OA=sAEL 2K &3, 493 S &It 04|
4,400,000 14! 4,400
= 2,200
& 660
Al 1,540
301 Let8&Z 60,600 60,600 0
= 30,300
= 9,090
Al 21,210
11 HARRHIXIES 21,600 21,600 0
OF=TE srars] U UITAl 82 2= Oyl
90,00024*16%*153] 21,600
= 10,800
& 3,240
Al 7,560
14 J|Et2 43 39,000 39,000 0
O=ZE0AM Dlel &0t20] X3
30,000, 000&* 14 30,000
= 15,000
& 4,500
Al 10,500
OsUlEIt 22
50,0002 *3 x5+ 12 9,000
= 4,500
== 1,350
Al 3,150
307 2I2+01 M 87,000 87,000 0
= 43,500
& 13,050
Al 30,450
02 QIZHEAAIIE X 53,000 53,000 0
OO0l TAIR HES K& 29
1,000, 000& *40JH 2~ 40,000
= 20,000
& 6,000
Al 14,000
OA=sAHEL HSIIR &3 NF
1,000,000 +83] 8,000
= 4,000
= 1,200




2A:

=PIl

MR SRS RS E(SR YN/ sY - 5E)
chel: olzigy (ctol: F21)
S - B - ORI(3]H) - HISAR - BaS Ol kot ] HIDE2
Al 2,800
OA=sHEAES SERIA
5,000,000 14 5,000
= 2,500
& 750
Al 1,750
04 QIZSHAAIRSE X 34,000 34,000 0
OA=HEL ES0| A
500,000 = 10MICH 5,000
= 2,500
& 750
Al 1,750
OFSHEO! Dol & siA}
15,000, 0002 *14] 15,000
= 7,500
& 2,250
Al 5,250
OHA=HEL 83tus I AIEHY 29
500,000 +83] 4,000
= 2,000
& 600
Al 1,400
OFSE B 2 NBaAL
2,500,000 *43 10,000
= 5,000
& 1,500
Al 3,500
402 QIZERE0|H 8,000 88,000 280,000
= 4,000
= 1,200
Al 2,800
02 QI AL B X (01X ML) 8,000 83,000 A80,000
OA=eIe & ==2lHl XA
4,000,000 *27H A 8,000
= 4,000
& 1,200
Al 2,800
(Z)AsHEL H=E=H| BT (RS2 USII12) 3,543,000 0 3,543,000
& 1,455,000
CH 2,088,000
401 AIEHIZL20HY| 3,543,000 0 3,543,000
= 1,455,000
CH 2,088,000
01 Al&HI 3,543,000 0 3,543,000




SH: S
HE: SESX )BEHE(SYHYSN/SY - S&)

e omms - (Ctel:ze)
S - B - ORI(3]H) - HISAR - BaS Ol kot ] HIDE2
OAsHEC B2=t] =Xl =&
3,543,000,000 2% 14! 3,543,000
[ 1,455,000
cH 2,088,000
SESH5 J[PEE(SEHYS A/ Y - 55) 7.176.779 3,988,854 3,187,925
= 73,715
= 2,260,000
9] 20,000
[ 253,224
Al 4,569,840
BRHAIS A 574,529 368,904 205,625
= 73.715
p] 20,000
[ 115,924
Al 364,890
BAHAI I Z 2 ALY 1,400 21,400 20,000
201 Ler2 Y| 1,400 21,400 20,000
01 AFR2r2lH] 1,400 1,400 0
OBRHAS AIHHEIN R0 S
1,400,00021% 14! 1,400
e N 83,641 63.234 20,407
301 YpHFE=Z 3,960 3,960 0
11 S#ALAHIXIRZ 3,960 3,960 0
OSZHSEA0IS AL - AIRE DS 0fH]
90,0004 x84 <23 1,440
OECHe SE=HESL0IS golal &4 0|
90,00024+8% 13| 720
SEHESA0S NF=H 20 X
900, 00024 <23 1,800
307 BI2H0IA 79,681 59,274 20,407
02 CIZFHAAIIE X 74,731 54,324 20,407
OsZHEEAS AIRE HEXHAIL(BXS 90%)
2,011, 000212 % 122 %90% 43,438
OSZHESANS AIPE HEXAAL(BXS 70%)
2,011,00021% 1 2% 122 %70% 16,893
OSZXSEA0IS SEDREN(BES 70%)
14,400,00021% 141 14,400
04 QIZFSHAIAIRIE 4,950 4,950 0
ORAH SR HESHEL(BES 90%)
5,500, 0002 *13]+90% 4,950
R IEDNE] 8,500 11,950 3,450
402 RIIXH=0| ™ 8,500 8,500 0
01 QIZFKH2 AL S (K HITH ) 8,500 8,500 0
Os0{Z0Ist B3 XS (BES 50%)
3,400, 0002574 A *50% 8,500




A sSII=dH
Do sEBAE IHEE(SHIYLN/ 5 - 5E)
s XY =H (CHl: X 21)
S - EE - 9I(30) - HIRAI - BES ol &kt ] B2t
(E PN ESENE] 28,800 28,800 0
& 8,640
Al 20,160
307 2I12t01 & 28,800 28,800 0
& 8,640
Al 20,160
02 SIHBAAMHEL 28,800 28,800 0
O6XHAt BEME A3t
36,000,000 *80% 28,800
& 8,640
Al 20,160
(D)X= CEOZEED B =AY 108,000 0 108,000
& 32,400
Al 75,600
402 BIZHRHE0| & 108,000 0 108,000
= 32,400
Al 75,600
02 QIZERH2 A 2 (01X THR) 108,000 0 108,000
OXE= CE0 2&EI|E ASAS
180,000, 000 * 141%60% 108,000
= 32,400
Al 75,600
(E)esuSEH3IXA 100,000 0 100,000
& 30,000
Al 70,000
307 212t01 & 100,000 0 100,000
& 30,000
Al 70,000
02 QIHAEAAMHEE 100,000 0 100,000
ON=01 Y =& 2 N A
100,000,000 * 14! 100, 000
& 30,000
Al 70,000
() sEMg2Y 843t 12,000 0 12,000
L= 3,600
Al 8,400
201 LBt 9,200 0 9,200
& 2,760
Al 6,440
01 AtR2teld] 9,200 0 9,200
Os=ZMEF20ts 823 22 & g2 9,200
—82ol3l 3o 2gH| 500,000& * 123 6,000
L= 1,800




A S |IEHH
HI: SESH IS (SEHLSN/ 5 - 5E)
s XY =H (CHl: X 21)
S - EE - 9I(30) - HIRAI - BES ol &kt ] B2t
Al 4,200
—E828 ¥ 3,200,000 %1 Al 3,200
< 960
Al 2,240
301 YBHEAZ 2,800 2,800
= 840
Al 1,960
11 BAFHIXIZ 2 2,800 2,800
OMEEYL0IE 24 AILE 218} ot
70,0002 %20 *23| 2,800
= 840
Al 1,960
(D)sZ=2BFH 84 (2 J1 1) 4,968 4,968
2 3,105
Al 1,863
301 YBHEAZ 4,968 4,98
2 3,105
Al 1,863
14 JIEIE A3 4,968 4,968
SENEEL0E 2EIIAX
6,210,0002 % 141%80% 4,968
2 3,105
Al 1,863
(2)sZ2BFH S5 UL(AN2E HE 1) 140,360 140,360
2 70,180
= 21,054
Al 49,126
307 CIZH0IA 140,360 140,360
2 70,180
= 21,054
Al 49,126
02 DIRIAAAIRIEE 140,360 140,360
OSEHSEEL0IS ARE HEXI
140,360, 00021 % 14! 140,360
2 70,180
= 21,054
Al 49,126
(2)sZ2YFH sS4 NA(SELY AHIA oHF 1K) 860 860
2 430
< 430
201 2Br2| 860 860
2 430
= 430




2M: sgI|=4H
M =EZBM5 |UEE (S o . =&)
CHPl: BRHAIY B4 o xigl)
SN - B SR(3H) - MBAR - BYS ofl Ao ] 2t
03 A2 GH| 860 0 860
OsE&E 218 MHIA
860, 000& x 1A 860
= 430
= 430
(Z)6RIAM AT E N 50,000 0 50,000
= 15,000
Al 35,000
402 QI K20 M 50,000 0 50,000
& 15,000
Al 35,000
02 QIZHKIEAIE EZ(0 50,000 0 50,000
OBRHIA B S H B
100,000, 000-& *50% 50,000
= 15,000
Al 35,000
(R)ESDEE LSAE 36,000 0 36,000
Dl 20,000
= 4,800
Al 11,200
307 2I12+01A 36,000 0 36,000
Dl 20,000
= 4,800
Al 11,200
02 QIZHEAAIEE 36,000 0 36,000
O=)zagay
40,000, 0002 *90% 36,000
| 20,000
= 4,800
Al 11,200
S=2HE 8| 6,602,250 3,619,950 2,982,300
rag 2,260,000
= 137,300
Al 4,204,950
SE0I2 SEMY 44,500 40,000 4,500
207 AN 40,000 40,000 0
01 HE&4H| 40,000 40,000 0
Os=gi2 A AS A
10,000,000& =13 10,000
Os&EEd 89 10,000,000 %33 30,000
301 LetEN= 4,500 4,500
11 SHAFAHIXIRZ2 4,500 0 4,500
OXIAHABIAIL (DR, A5 E} Ol
90,000& x50 4,500




2 s2)|s4H

M SESH JUEE(SEHLT /S - 5F)

&2 ==SZ | (CHo: X 2l)
S - EE - 9I(30) - HIRAI - BES ol &kt ] B2t
SZEHLAIE 2 229,250 283,450 54,200

101 QI24H] 50,800 0 50,800
M IIIR22NEES 50,800 0 50,800
S0 S2E0/A4 HMBRIX} 2R
90,0002 x> +60L 10,800
OFMNYER (SESH O XAMEH)AIRS Q124
2,000,0002 2+ 102 40,000
201 LB 28,450 28,450 0
02 2229H| 28,450 28,450
o=stoe Aldszel 9,160
—24HA0I2 SHIAL LIRS MIIQS
450,000+ 12 5,400
—HA25012 ALRE SEAAR
280,0002 %43 1,120
—Z4251012 LBE M3
220,000+ 12& 2,640
OsZe Aleg 2l 19,290
—SAHATHR| DHHOIRE JIRS Y HiStES
&S 550,0002 %12 6,600
—=50 XTEE 2 JII2S MRS
130,000 % 12 1,560
—2)|g SEEHSHH MRS ¥ $523
550,000 * 12 6,600
—2)|g LMY MRS Y 523
340,000 %12 4,080
—S74 SE0IAIE I A
450,00024%13] 450
401 A& HIL S 0HY| 150,000 255,000 A 105,000
01 Al&H] 150,000 255,000 A 105,000
OSZESAGIAIY AldE 21282t 150,000
—231012 A2 21324
5,000, 0002 *4H 20,000
—HANS AlLE2 213E2Y]
5,000, 0002 *4H 20,000
— AR AIES 2SELH|
5,000,000 *8H 40,000
—SATIAIY AIE2 2324
5,000,000 %4 H 20,000
—DISEHSD| AIES 2324
5,000,000 * 1074 50,000
S212| DISOFSIIAIY (F2HAIY) 400,000 100,000 300,000
403 XtXISHHIS K01 ™ 400,000 100,000 300,000
02 2| ZS0ICHE AHEE 2| EFAFSH 400,000 100,000 300,000
Os212 DISeHSIIANY
400,000,000 % 14! 400,000
2522| OIS DFSIIA (R EFALY) 400,000 100,000 300,000




SN SeIISHE
DI SESES JBEE(SEHYLN/5Y - 5E)
el sESEE (CHl: X 21)
SA - A SR(B) - AIRAI - BAS o vy ] bl D2
203 SIS A= 0T 400,000 100,000 300,000
02 212 SUChEI A=A FIEAT ] 400,000 100,000 300,000
Ogs22| DISRHSIAIY
400,000, 00024+1 41 400,000
EE SN ETEENE) 400,000 100,000 300,000
403 RIS IS A0 400,000 100,000 300,000
02 2O 2SO A=A IS AT 400,000 100,000 300,000
O&R12| DISRISIIAIYS
400,000, 0002 *1 41 400,000
EE EEERESNETENE) 400,000 100,000 300,000
403 RIS IS AF=0lE 400,000 100,000 300,000
02 2SO A=A FISATS ] 400,000 100,000 300,000
O™212l DISHSIIAIY
400,000, 00024141 400,000
SRS N ETEENE 400,000 100,000 300,000
403 RIS IS =01 400,000 100,000 300,000
02 212 SU A=A IS AT 400,000 100,000 300,000
OS4132] DISOHSDIAIYS
400,000, 0002 +14] 400,000
AE32| Or2Cr=0 A (B EHALY) 400,000 100,000 300,000
403 RRISHIS =0 400,000 100,000 300,000
02 212 SUTHE =R AT 400,000 100,000 300,000
OAE32| DISOHSDIAIYS
400,000, 00024141 400,000
ES PRSI ETEEINE 400,000 100,000 300,000
403 RIS IS AH=0E 400,000 100,000 300,000
02 2SO A=A AT 400,000 100,000 300,000
OXM22| DISRHSIAIS
400,000, 00024141 400,000
B EEEPIEEENEESEINE 1,265,700 7,080,000 235,700
2 886,000
Al 379,700
403 RIS RIS Ar=0ld 1,265,700 1,080,000 235,700
2 886,000
Al 379,700
02 21 2SO = A FIEATSH] 1,265,700 7,080,000 235,700
OWSB! J|ZMBNEILAY
1,265,700,00024* 14! 1,265,700
2 886,000
Al 379,700
2232 Or=S0IAY 100,000 0 100,000
403 RIS RIS Ar=0ld 100,000 0 100,000
02 SO 2SO A=A A AIS ] 100,000 0 100,000




2A: =dI|sHH
N =ESAG HEE(SRHYAN/EY - )
el sESF I (Crel: &)
SA - FH . SRI(B) - HIRAY - BAS il b ] Hl D=2
Oz&22 0sSsSIIAg
100,000,000 14 100,000
=32l 0ISeSIIAY 100,000 0 100,000
403 MXISHMSAHE01H 100,000 0 100,000
02 S| 2S0ICHEHAHEE 2 EFAIZ I 100,000 0 100,000
O=3¢cl 0IEe=IIAY
100,000,00021%14! 100,000
d=22c| 0SS IAIE 100,000 0 100,000
403 XSS AHE01H 100,000 0 100,000
02 I 2SS NEEAE AL 100,000 0 100,000
O& 222 0tSsSIIAY
100,000,000 * 14! 100,000
(2)=ESAXNEHSIHIOIE (238 2) (BSAIT) 150,000 0 150,000
s 105,000
& 10,500
Al 34,500
403 XSS AHE01H 150,000 0 150,000
s 105,000
& 10,500
Al 34,500
02 ST 2S0ICHEHAHEE 2 EAIE I 150,000 0 150,000
OsES AN EHSHHI0E (2838 Y) (BFSAIZ)
150,000,000 * 14 150,000
s 105,000
& 10,500
Al 34,500
(RN ZMENF L (2BHY) (ZSAIT) 1,212,800 0 1,212,800
s 849,000
= 84,800
Al 279,000
403 X SHMSAHE01H 1,212,800 0 1,212,800
s 849,000
& 84,800
Al 279,000
02 S| 2S0ICHEHAHEE 2 EAIZ I 1,212,800 0 1,212,800
O | =MEHEE LAY (238 ) (ZSAI2)
1,212,800, 00021141 1,212,800
s 849,000
& 84,800
Al 279,000
() ZMEAHEZH2HH (238 L) (B EAT) 600,000 0 600,000
s 420,000
= 42,000
Al 138,000




2 s2)|s4H
M SESH JUEE(SEHLT /S - 5F)
el sESEE (CHl: X 21)
S - EE - 9I(30) - HIRAI - BES ol &kt ] B2t
403 R XIEHHISXH20[H 600, 000 0 600,000
= 420,000
[ 42,000
Al 138,000
02 2| ZS0ICHE AHEE 2| EFAIH 600,000 0 600,000
O | ZMEHE T A2CHH (2382 (FEAIR)
600,000,0002* 14! 600,000
z 420,000
[ 42,000
Al 138,000
SAS HMEIS(SHHSS A S - =&) 200,000 835,000 635,000
[ 60,000
Al 140,000
R ESE=IBIE=ES 200,000 835,000 635,000
[ 60,000
Al 140,000
(C)sSAAEII A S 200,000 250,000 A50,000
[ 60,000
Al 140,000
402 QIZHRFE0[E 200,000 250,000 50,000
[ 60,000
Al 140,000
02 QI RFE A E R (0| M) 200,000 250,000 50,000
OSABIIBMASHE(ARR)
400,000, 0002 *50% 200,000
[ 60,000
Al 140,000
HE2AZH|(SAF D) (DIEHIIE 1,413,119 1,378,154 34,965
olzi2gy] 1,133,309 1,104,104 29,205
REEET 1,133,309 1,104,104 29,205
101 Q124H] 1,131,681 1,102,476 29,205
01 B2 446,279 439,495 6,784
OsI|HlE AR (5HRA)
11,1302 +812#38AI 2+ 122 411,098
O2WeH2 A2 RSEHEY)
1,130 x3H+36AI2H+ 122 14,425
O2Wsr 522245
89,4652 2116 20,756
02 JIEFRI 24 46,770 44,283 2,487
OSZESAXALE SIS (AIZFEERIADIM 2t3)
46,770
—Jl=a 3,030,870+ 12128 36,371
—Al2belaeet
9,992 %20 Al 2bx 12 122 2,3%9




A

M AHSHAH(SLHH)(JIEHDIIEH
Cel: ol 29| (Chol: ®2l)
SA - A SR(B) - AIRAI - BAS o vy ] bl D2
RV EES=I TSN
40,0002+ 1H* 122 480
—ZHZ A 140,000+ 1+ 122 1,680
— SN2 166, 26020 %1 H* 122 1,99
— It A
3,080, 8702 x84%+86%+1/30% 1/7+84 Al 2+ 876
—SnH= 247,288+ 1128 2,968
03 BRE(RIH ) 2224 638,632 618,698 19,934
OMBMBE ARG AIHI 22| (62) 261,691
—Jlz2 2,284,060 +62* 12 164,453
—HHSIH| 2,284,060 & <7562 x23] 20,557
—d2+g 2,284,060 #5006 *23| 13,705
—JtESg 4,560
- i X+ 40,0006« 122 2,880
JIEt 20,0002 +7 122 1,680
—AlZtel2Rsy
13, 443215 150%+ 15 Al 26 L * 122 21,778
—52245
107, 5432 % 150%+4 L% 152 9,679
—ARSEISY
107,5432+6 %15 9,679
—Zoigall| 140,000 *6 X+ 122 10,080
—uWESEXH| 100,000 x5 x 122! 7,200
OsIIH +2l, 28(7H) 356,941
—Jlz2 2,619,320 +7 122 220,023
—HHSIH| 2,619, 32087507223 27,503
—FH24g 2,619, 3208 +50%+7 223 18,336
—JtESY 10,080
- I At 40,0002+« 122 2,400
- JIEDE 20,0004+ 17H 122 4,080
JHAFZ(AITHAHA)
100,000 3 * 122 3,600
— A2ty
15, 24821 150%+ 15 A1 2H+7 H* 122 28,819
—522245
121,980+ 150%+7 B * 152 19,212
—ARSEIISY
121,9802%7 215 12,808
—HAZ A 140, 000847 2= 128 11,760
—WELXH| 100,000 7+ 122 8,400
OSg4e At 2244
20,000,000 * 14! 20,000
204 ER4 ] 1,628 1,628 0
ESEEEN] 1,628 1,628




A

NI HYSAAH|(SAYFM) (IIEHIIE
s 1523 (CHl: X 21)
S - EE - 9I(30) - HIRAI - BES ol &kt ] B2t
O=ZARNJME 290 (2ka) AsExH]
155,000 2%35/40h* 1 * 122 1,628
J1=2ZH| 279,810 274,050 5,760
J1=ZH 279,810 274,050 5,760
201 L2 A 176,510 170,750 5,760
01 AFR2t2IHI 87,770 85,610 2,160
O=AEX 74 20,000 %208t Ax 122l 4,800
OSZ20HAalbl 8,000 *6Ax20 T * 128 11,520
Ot 100,0002 %122 1,200
OARZ2 TN 50,000+ 122 600
OARD 24 9,250
—=2AD| 22I(HHE) 1,000,000 *1CH 1,000
—T2IE 42 100, 0002 *5CH*50/ 100 250
—=SADI EH 200,000 %53 1CH 1,000
—T2IE EL(S)
200,000 *53] *5CH 5,000
—T2IH EU(ZH)
200,0002%53]*1CH 1,000
—PC =2l 100,000 *20CH*20/ 100 400
—J|E+ ==2lY| 50,000 x12& 600
OJIEH AFR2t2IH] 5,0002*20 %12 1,200
O - =AY 57,720
-2 60,0002 116 13,920
—%3 60,0002 *2 %3652 43,800
Ogzlg 37 72 2 N 1,480
—gE2 237 2
100,000 *224*23] 400
-2 HIE 30,000%33|*12& 1,080
02 2Z29H| 88,740 85, 140 3,600
OHIE! M3 65,400
—HAF AFRA! 3,000,0002* 122 36,000
—[=x =20l ns
1,700,000 * 122 20,400
—=J|HA(2D) 150,0002% 12 1,800
— 5 F=AIL(GIRA)
600,000 * 12 7,200
OMFERB (U= NsD)
100,0002 % 12 1,200
oxste=2 100,000 % 12 1,200
OFI| otE | =22
950,000 % 122 11,400
O=R¥Rs 150, 000 *5H R Al * 122 9,000
Ogsgs A2
10,0002%23] * 122 240




A

=PIl

NI HYSHAH|(SAFM)(IIEHIIE
Sl Jl2d| (crel: M)
SN - B SR(3H) - MBAR - BYS ofl Ao ] HIS2
PR 300,000 *13] 300
202 04| 79,200 79,200 0
EXCE 79,200 79,200
OsAF=Y JREE O 79,200
— 2ol 20,0002%20Z* 122U * 122 57,600
—22/04H| 90,000 *20 T 122! 21,600
203 2= 11,500 11,500
01 J| 22U 3,300 3,300 0
OS2I |SHIHAR J|HSAUALETH
3,300,000 %1% 3,300
02 HAIIAA LRI 4,000 4,000 0
OFJINHR =LY 4,000,000 %1 Al 4,000
04 ENSHADEAIH 4,200 4,200 0
ORAN2HARENH| (=S E 2D}
350,000 * 12 4,200
204 224 AHH| 12,600 12,600 0
01 ZHZ A4S AH 12,600 12,600
ORI ADLHAH| 12,600
—s)|SMEH A
400,000+ 1128 4,800
—=sHEMUE 100,000 x5« 12 6,000
— R PR A ASAZ
50,0002 +32+12& 1,800
HWRes(sg)IsdH) (s =g - 55) 200,000 200,000 0
VESENE] 200,000 200,000 0
VESIEINE] 200,000 200,000 0
702 JI2HE3 200,000 200,000 0
01 JI2dE3 200,000 200,000 0
OZFAl SESHARD2 dE2
200,000,0002* 13 200,000
A=Y AFAIY (sEHYSN/ =2 - 55) 784,409 1,162,922 A378,513
= 52,718
p) 34,953
[ 89,339
Al 607,399
ZEH = AE 784,409 1,162,922 N378,513
= 52,718
p) 34,953
[ 89,339
Al 607,399
ZESHSAS MA 2HTA 6,040 1,800 4,240
201 L2 A 1,800 1,800 0
01 AFR2t2IHI 1,800 1,800 0




2A:

M RSHSY ABARRI( A5 - 5E)
el dEtdsy A Ciel: ®M2l)
Y LIR=E HEA - A= ] HIS2
Ozlelsd s22 |0
50,0002 *2E*5F 500
OZSH = AUEE &40 HE
60,0002 %57H A 300
OFBB=AE ZWF|, MAIF, 023 S EBHAIZ
RI= 500,00024%23] 1,000
301 L2 4,240 0 4,240
11 BAFAIHIX] 3,240 3,240
Oz&y A=
90,0002+ 1813 1,620
ORIEH A =0l ot
90,0002 %182*13] 1,620
14 J|EI2 A3 1,000 0 1,000
OFSHASAES ZEHF| MAIG, 25| MAISZ D4}
500,000 %23 1,000
S H =Y SHAIY 392,900 406,900 14,000
301 YEEXZ 182,400 196,400 14,000
14 JEIEA S 182,400 196,400 14,000
OFSER NN 23 X
500,00024*90ha 45,000
@f=E=-SCL] =NIPAL 59,400
—ddEd 5,00024*9,000% 45,000
I saESs 1,60024%9,000% 14,400
Ost34! &80 PNELAL
80021%60, 000kg 48,000
OZ=H(8.15) 12 X
10,00024%3,000% 30,000
307 2I2H0| & 148,500 148,500
02 DIZHAAAIE 148,500 148,500
Osx2 LSBYHN KA (EXE 33%) 148,500
&R 200,00024%2, 000ha*33% 132,000
—&€X= 250, 0002 *200ha*33% 16,500
402 QIEXHE0| A 62,000 62,000
01 QIFRHE A E R (XHRITHE ) 62,000 62,000 0
OYFNUME Mty 2E8d SIHH XY
(BEE 70% 1,000, 0002 *50ha*70% 35,000
OREH s A BE ST KR(BEE 70%)
1,000, 0002 *30ha*70% 21,000
OZZHIED| X ASH S X(BXS 50%)
12,00024%1,0000H*50% 6,000
(EEEEZES=ESESIN 34,953 32,872 2,081
34,953
301 LEEAS 34,953 32,872 2,081
34,953
14 JEI2 43 34,953 32,872 2,081




2A:

Ha: AEAS0 ASAY(SHHYS/ 5 - SE)
el dEtdsy A (Crel: &)
S - ZE - SI(SH) - MIRAR - BES ol &kt ] B2t
OEEE RN EY]
34,953, 00024 x14] 34,953
| 34,953
B EFIEEIUNE 25,350 41,220 15,870
2 10, 140
= 4,563
Al 10,647
402 IR =013 25,350 41,220 15,870
= 10, 140
= 4,563
Al 10,647
RN EE GFEED) 25,350 41,220 15,870
OSSR XIRA
50,700, 0002 % 141%50/100 25,350
= 10, 140
= 4,563
Al 10,647
BEEEEEEEENER 3,960 4,560 600
= 1,188
Al 2,772
201 Lere | 3,960 4,560 2600
= 1,188
Al 2,772
01 A= 2elyl 3,960 4,560 600
OHBF=Y XL
10,000@1%33* 123 3,960
= 1,188
Al 2,772
BEEEEENE= =Ny 35,568 22,780 2,788
= 10,670
Al 24,898
301 IR AE 35,568 22,780 2,788
= 10,670
Al 24,898
14 JIEr2 A 35,568 22,780 2,768
OHBBSLE ASEAY| X2
600,81021%7421+80/ 100 35,568
= 10,670
Al 24,898
BREEEEESE 25,157 15,290 9,867
= 7,547
Al 17,610
402 K203 25,157 15,290 9,867
= 7,547




2N s
|

33

20 ABARI(SRHLSA/ S - 5E)
el dEtdsy A (Crel: &)
SA - FH . SRI(B) - HIRAY - BAS il b ] Hl D=2
Al 17,610
02 QIR A S (OIETHE) 25,157 15,290 9,867
OXBA=Y ZN
1,026,800 *35ha*70/100 25,157
& 7,547
Al 17,610
(D) ESASEHN EUAA 2,900 4,400 A1,500
& 870
Al 2,030
301 LetBE= 2,900 4,400 A1,500
& 870
Al 2,030
14 J|Et2 43 2,900 4,400 A1,500
Ozl d=sAMSTHZ X
8,000&*72524x50/100 2,900
& 870
Al 2,030
() Rz 42,578 45,100 A2,522
= 42,578
201 et | 5,989 4,100 1,889
= 5,989
01 At22teld| 5,989 4,100 1,889
OHEMA HE U HUBE 72
4,789,000 * 14! 4,789
= 4,789
O3NS 82 9 HH
60,0002 *20& 1,200
= 1,200
206 =4I 36,589 41,000 A4, 411
= 36,589
01 M=l 36,589 41,000 A4, 411
OmBUBBR| TETY HA
36,569, 00021+ 14! 36,589
= 36,589
(&) =sHRNSEEREN 8,503 7,000 1,503
& 2,551
Al 5,952
301 LEtE&Z 8,503 7,000 1,503
& 2,551
Al 5,952
14 J|Et2 43 8,503 7,000 1,503
OFE=AXNSAEXNEM
8,503,000&*14! 8,503
& 2,551




2N s
m:

oo
el dEds

S - EE - 9I(30) - HIRAI - BES ol &kt ] B2t

| Al 5,952

(ZIRPC=FE AL S THSI XA 206,500 150,000 56,500
& 61,950
Al 144,550

402 IEAHE01M 206,500 150,000 56,500
L= 61,950
Al 144,550

02 QIR AL S E (0| ETHE) 206,500 150,000 56,500

ORPCAIE ZHIXIE A

413,000,000 & *141%50/100 206,500
& 61,950
Al 144,550

ASMA DB R (SIS M/ Y - SE) 27,634,166 24,438,989 3,195,177
= 1,893,892
Il 19,909,932
= 753,232
Al 4,855,610
= 221,500

AlgFMAE & 27,634,166 24,438,989 3,195,177
= 1,893,892
| 19,909,932
L= 753,232
Al 4,855,610
= 221,500

(2)ELHH X 1,617,267 1,617,267 0
= 1,095,392
L= 104,376
Al 417,499

402 I2EXHE01M 1,617,267 1,617,267 0
= 1,095,392
& 104,376
Al 417,499

02 QIZFXHE AL S (0| ETHA) 1,617,267 1,617,267 0

OE2MEH KIJA

1,617,267,0002* 14! 1,617,267
= 1,095,392
& 104,376
Al 417,499

(Z)RII1EHlE X (NEA) 2,775,000 2,880,000 A105,000
& 333,000
Al 2,442,000

402 2I2EXHE01M 2,775,000 2,880,000 A105,000
& 333,000




A sSII=dH
TR AN IR (SY LS/ B - BE)
e AMEdA X2 (G2 &)
S - ZE - SI(SH) - MIRAR - BES ol &kt ] B2t
Al 2,442,000
02 QIR A S (OIETHE) 2,775,000 2,880,000 A 105,000
ORIIZHIE XFA
1,50024% 1,850,000 2,775,000
& 333,000
Al 2,442,000
(D HELISFEINXA 34,500 54,000 219,500
& 10,350
Al 24,150
402 I2EAFE01M 34,500 54,000 A19,500
& 10,350
Al 24,150
02 QIZFRHE2 A E X (OIHTHA) 34,500 54,000 A 19,500
OHRRE N+ (URR)
30,000,000 *1JH 2*50/100 15,000
& 4,500
Al 10,500
OHSRE HEX(LARL)
8,000,000 *1IH2~+50/100 4,000
L= 1,200
Al 2,800
Oti=3ta X3 (HA2)
20,000,0002*1JH-x50/100 10,000
& 3,000
Al 7,000
Oti=3ta X3 (AH2)
11,000, 000 & * 171 2+50/100 5,500
& 1,650
Al 3,850
(Z)sLrNMTHIXIRA 65,450 70,000 24,550
& 19,635
Al 45,815
206 =4I 65,450 70,000 A4,550
& 19,635
Al 45,815
01 M=Hl 65,450 70,000 24,550
OY=oHEA| X2 70,00021+935 K1 E 65,450
< 19,635
Al 45,815
(Z)E2MSHRISS 31,500 31,500 0
& 9,450
Al 22,050
402 2I2EXHE01M 31,500 31,500 0
L= 9,450




A sSII=dH
TR AN IR (SY LS/ B - BE)
el AEAA X3 (CHo: X 2l)
S - ZE - SI(SH) - MIRAR - BES ol &kt ] B2t
Al 22,050
02 QIR A S (OIETHE) 31,500 31,500 0
OE&=2=2 S ZHIXZE
30,000,0002*1JH-*70/100 21,000
& 6,300
Al 14,700
OES== MAHIXIH
1,000, 000&*15ha*70/100 10,500
& 3,150
Al 7,350
(£)0138 & HITHEH KI# A 27,000 27,000 0
& 8,100
Al 18,900
301 LetEE= 27,000 27,000 0
& 8,100
Al 18,900
14 JIEtE 43 27,000 27,000 0
OJFZE 2 HOHHEKI XA
540,000 *50ha 27,000
L= 8,100
Al 18,900
()BT MR At 19,000 32,537 218,537
= 5,700
Al 13,300
402 QIZEXHE20|1 A 19,000 32,537 213,537
& 5,700
Al 13,300
02 QI = AIEE X (01X THE) 19,000 32,537 213,537
OB b= 31 0| X1
38,000,000 *141%50/100 19,000
= 5,700
Al 13,300
() aNMASSLXIR 15,120 13,680 1,440
& 4,536
Al 10,584
201 Let23| 15,120 13,680 1,440
& 4,536
Al 10,584
01 AFR2teldl 15,120 13,680 1,440
ONNMASEHEX BSKIA
72,0002 +210H 15,120
& 4,536
Al 10,584
(&) =EIXEANY 70,000 0 70,000




2 s2)|s4H
M AZMA D|BIRY (SRS S - SE)
e AMEdA X2 (Crel: &)
S - ZE - SI(SH) - MIRAR - BES ol &kt ] B2t
< 21,000
Al 49,000
301 LEEXSZ 70,000 0 70,000
[ 21,000
Al 49,000
14 J|EI2 A3 70,000 0 70,000
O=EF RS TN XIS AL
70ha* 1,000,000 70,000
[ 21,000
Al 49,000
(C)s==2 LR Z2D| X 6,500 6,500 0
[ 1,950
Al 4,550
402 QIZHRF=0[H 6,500 6,500 0
[ 1,950
Al 4,550
02 CIZIRFE A E X (01 HTHL) 6,500 6,500 0
Os=2 MY Zal(2H)I| X
250, 0002 *26CH 6,500
[ 1,950
Al 4,550
=Z=ol1ET| 379,011 126,215 252,79
101 o124H] 44,331 15,903 28,428
SIEEEI RS 44,331 15,903 28,428
ORHE22T 2% BX 012 44,331
—QI2OIHH2ZN HREX
76,960 21 x22 %2292 35,248
—=54 76,960 R %2 %48 7,389
—oxRa Y
76,9602 %2 * 11 1,694
201 LB 137,880 77,560 60,320
01 AF22t2IHI 136,380 77,560 58,820
OQZ0IHBARR HelAla 29|
3,000,0002* 14! 3,000
OQIZ0IHBZ2R AIAlA ARt
100,00024% 15/ %400 40,000
OQIZ0IHBIZ 29 X2k AR
900,000 *363 32,400
OZQIHH2ZX 2 BHI(PCRAAN, S, BN 5)
35,980,000 * 14! 35,980
OQZQHBIRL} 2% 48
20,000,000 * 14! 20,000
OBHAX MBS 2UHTHA X
500,000 %12+ 10JH & 5,000
02 2229 1,500 0 1,500




SN SIS
M AZMA JIBIEY (SRS 5 - 5&)
el AEAA X3 (chel: & 2l)
S - ZE - SI(SH) - MIRAR - BES ol &kt ] B2t
O2223(INBRS 5)
1,500, 00094% 14! 1,500
301 LBHEXZ 186,800 32,752 154,048
11 SAAHIXI 22 26,800 24,752 2,048
OQJAZQIHE2RZ2R S S|
8, 00024541400 16,000
OXPI2E2Ixt 22l
8,000 94341 %400 9,600
OXItARIAE 2HAH| 3,000 %400 1,200
140|242 160,000 8,000 152,000
OQAZQIHE2Z2R 822 X
300,0002%200 60,000
OQJABQHEZZ2R DESI} ATHEE
50,0002 %400 *5IH 2 100,000
307 EI2t0[® 10,000 10,000
01 SI2REH| 10,000 0 10,000
OQA=ZQIAE22 22|
200, 0002 %50 10,000
BEEENIEREE 47,200 47,200 0
[ 14,160
Al 33,040
402 BIRIXHE0IH 47,200 47,200 0
[ 14,160
Al 33,040
02 QIEXHEAII B (01 &N ) 47,200 47,200 0
OYEM THHHEHK EA XIS
1,180,00094%40na 47,200
[ 14,160
Al 33,040
BEEEEINE 28,000 10,500 17,500
[ 3,150
Al 7,350
= 17,500
301 LBHEXZ 28,000 10,500 17,500
[ 3,150
Al 7,350
= 17,500
14 JIE12 42 28,000 10,500 17,500
OHAEA XA 350,000 *80ha 28,000
[ 3,150
Al 7,350
= 17,500
(D)2 ZH(O0IS)TIH AR 80,500 31,393 49,107
[ 24,150




SN SIS
HE: AZMAL D|BIES (SEHLS A/ SY - 5E)
el AEAA X3 (CHo: X 2l)
S - ZE - SI(SH) - MIRAR - BES ol &kt ] B2t
Al 56,350
402 QIZIXH=01 & 80,500 31,393 49,107
= 24,150
Al 56,350
02 BIZIXHEARI S E (01 THE) 80,500 31,393 49,107
OgR2 ZH(II2)IaH YA X
115,000, 000&4% 141%70/ 100 80,500
= 24,150
Al 56,350
(DHSE SX X2 191,250 156,000 35,250
= 11,175
Al 26,075
== 154,000
402 QIZIXF=01A 191,250 156,000 35,250
< 11,175
Al 26,075
== 154,000
02 BIZIXHEARI S E (01 TH ) 191,250 156,000 35,250
OHSISIW X2(AR2)
1,000, 00024 *47H 4:+50/ 100 2,000
[ 600
Al 1,400
OHISSIH X (HRL)
114,000, 0002 % 1A1%50/ 100 57,000
< 900
Al 2,100
== 54,000
OS24 Held X
264,500, 00021 % 141%50/ 100 132,250
= 9,675
Al 22,575
== 100,000
EEREREERER SRR 95,800 95,900 A100
pJ 95,800
101 I2AH] 24,312 23,535 777
pJ 24,312
04 JRIA2ZNEE S 24,312 23,535 777
OBAXEN SHEX Q2 24,312
—ZUREH YREE
16,000,00021% 14! 16,000
pJ 16,000
—F=J/+g 76,960 2% 12108 8,312
pJ 8,312
201 LBr2 | 49,768 36,045 13,723




A s |SHIE
H: AMZMA J[BIEY (SRS A/ Y - 55)
e AMEdA X2 (G2 &)
S - ZE - SI(SH) - MIRAR - BES ol &kt ] B2t
Ol 49,768
01 AF22t2IH] 49,768 36,045 13,723
OZUXEN ABE MAARN P24
100, 0002 *062 x5 19,200
Il 19,200
Oul=Hl 24,500,000 * 14! 24,500
Il 24,500
OHFAL L APEE S 2
6,068,000 * 14! 6,068
Il 6,068
202 01t 1,800 32,400 30,600
Il 1,800
01 =LH0IH| 1,800 32,400 230,600
OBYUZZH AIIEE SX|2Q01 oY
20,0002 %1290 1,800
pJ 1,800
301 LEHEES 3,920 3,920 0
pJ 3,920
11 SAAHIXI 2 3,920 3,920 0
OBUXZN AR AMARE S0
10,0002*96H 23| 1,920
Il 1,920
OSAUNEN AFE MAIRIRE 25
62,5009+ 164 A *23] 2,000
pJ 2,000
303 ZAZ 16,000 0 16,000
pJ 16,000
01 a2 16,000 0 16,000
OBUHEN K2 32 MK As
16,000,000 % 14! 16,000
Il 16,000
(Z)CHA2 BITHEH SO GHESI 1 X 100,000 100,000 0
[ 30,000
Al 70,000
402 SIZFRHE0[H 100,000 100,000 0
[ 30,000
Al 70,000
02 DIZEXHE A E Z (01X THE) 100,000 100,000 0
OUFL BTN SIF CHEls)|H X
50,000, 0002 *5CH*40/ 100 100,000
[ 30,000
Al 70,000
EPIEEEREEENES] 19,798,000 18,509,000 1,289,000
ol 19,798,000




A sHIISHE
I AlAAl J|BHEN (SRIYSA/SY - 5E)
e AMEdA X2 (G2 &)
S - EE - 9I(30) - HIRAI - BES ol &kt ] B2t
301 LEFEAZ 19,798,000 18,509,000 1,289,000
pJ 19,798,000
14 JIErE2 A2 19,798,000 18,509,000 1,289,000
O |28 SASTXEXIEH
19,798,000, 0002 *14! 19,798,000
pJ 19,798,000
S EEREEN RIEEEWNE] 130,000 80,000 50,000
= 40,000
Al 40,000
= 50,000
307 QI2H0IA 130,000 80,000 50,000
= 40,000
Al 40,000
= 50,000
02 QIFAMAIRIE T 130,000 80,000 50,000
OsEQILSINME 2
130,000, 00024 %14} 130,000
= 40,000
Al 40,000
= 50,000
(2)=EEXTZ=M 16,132 16,132 0
pJ 16,132
301 LerEFZ 16,132 16,132 0
pJ 16,132
14 JIEI2 A2 16,132 16,132 0
O=2grii=3 16,132,000 * 1Al 16,132
pJ 16,132
AZFMAL 2T 44,403 8,045 36,358
101 2124d] 2,463 2,345 118
04 JIZRIZ2 XSS+ 2,463 2,345 118
Oszgills 228H o2
76,9602 x4 +82x13] 2,463
201 LEH2 | 6,000 500 5,500
01 AlR22IH] 6,000 500 5,500
OsgMol 82= A 2,50024%200 5 500
ORIIZHIZ EXAAH
5,500,0002*14] 5,500
206 H2HI 11,000 5,200 5,800
01 =4I 11,000 5,200 5,800
Os&EgEs)| HYs
5,000 *7007H*23] 7,000
OsSZgEillE AH7Y 80,0002 *50ha 4,000
301 LerEFZ 24,940 0 24,940
11 ALK 2 24,940 24,940




A s |SHIE
H: AMZMA J[BIEY (SRS A/ Y - 55)
e AMEdA X2 (G2 &)
S - ZE - SI(SH) - MIRAR - BES ol &kt ] B2t
ORA= MaD|zns L &S| &t o]
90,0002 *362*13] 3,240
ONEZIF MED|ENE L SHES| &t oYl
90,0002 %40 *13] 3,600
OSAIRAIZ LS &I} 04t
90,0002%30F*13] 2,700
OsELEE)| 20iX S 15,400
— Al 8,000&x7002 =23 11,200
—ZAlt| 3,0002x700% 23] 4,200
AZEMAL SHAL 649,200 426,120 223,080
301 LEEES 200,000 0 200,000
14 JEt2 A2 200,000 0 200,000
O=EI=Z Tl X1 2,000,000 *100ha 200,000
402 BIRIXHE0IH 449,200 426,120 23,080
01 CIZFAHE A 2 X (RHHITHE!) 449,200 426,120 23,080
Ol THHi=IH A& XY(2X8 FHH)
330,000,000 x 14! 330,000
O#tFYs SIIH XA(EESE 50%) 42,700
—=ZAHIDI, SEFXIDI
5,000, 00094 %7 CH*50/ 100 17,500
—EUHS HIZAHE)|
3,500,00094% 10CH*50/ 100 17,500
—SESAAF)
2,200,00094%7CH*50/ 100 7,700
OO0t BXHPHER, B2) FUXA(EXES 50%)
2,400,000 %50ha*50/ 100 60,000
ODTOIESE KLGIRA AXIXA(BES 50%)
25,0008+ 1,320m x50/ 100 16,500
=8 ROIERI| 2 NAY 50,000 50,000
402 BIRIXHE0IH 50,000 0 50,000
01 QIZFAHE AL 2 (RHHITHE!) 50,000 0 50,000
OsgE L0I8tR)| C2XAAIL(BXE 50%)
20,000,000 %5150/ 100 50,000
(2)RIIEHIZ JIAQIA Xt XA 1,258,333 0 1,258,333
= 755,000
[ 151,000
Al 352,333
301 YRS 1,258,333 0 1,258,333
= 755,000
[ 151,000
Al 352,333
14 JEt2 A2 1,258,333 0 1,258,333
ORI &2 IFAQIA UK &
2,516,666, 00021 % 1 A1%50% 1,258,333
= 755,000




SN SIS
HE: AZMAL D|BIES (SEHLS A/ SY - 5E)
el AEAA X3 (CHo: X 2l)
SA - FH . SRI(B) - HIRAY - BAS il b ] Hl D=2
= 151,000
Al 352,333
(RHEL Hl=S22LS EEXE 5,000 0 5,000
2 3,500
= 1,500
301 LBtE NI 5,000 0 5,000
= 3,500
= 1,500
11 S#AILHIRIZ2 5,000 0 5,000
OMZIXI 248 ZAX 0t
5,000,00024% 14! 5,000
=l 3,500
[ 1,500
AHE =M LohsIt =78 K2 100,000 0 100,000
302 012 Mo A2 100,000 0 100,000
02 BIZRITHHASPEELZAS 100,000 0 100,000
OARS =AM WoksIh =278 X
100,000, 00024 % 14! 100,000
ANAS JENL (STHS /5 - 57) 5,862,222 3,450,581 2,411,641
2 425,000
pJ 1,142,000
= 741,833
Al 3,204,339
= 349,050
s HYE L3 5,610,622 3,311,851 2,298,771
=l 425,000
pJ 1,142,000
[ 741,833
Al 2,952,739
== 349,050
ISP L3 4,920 10,525 5,605
201 B2 | 3,520 6,500 2,980
01 Al 3,520 900 2,620
OFTA DEXAIS SIHEAIY DS L S0t HIX 5
1,000,00024% 14! 1,000
OYFAL RENE CHE@ = AL
70,0002 % 125*33] 2,520
301 B2 N = 1,400 4,025 2,625
11 S#AILHIRI22 1,400 4,025 2,625
OYFAID SAIXRE 3]0 AT A X2
8,00024*35F*53] 1,400
D FEAE X K 1,212,566 1,202,220 19,654
101 1] 7,6% 0 7,6%
04 JRIA2ZNEE S 7,6% 0 7,69




A S| ME
Hu: S JISHL (SN 5 - 5E)
ol DA As (ct

S - EE - 9I(30) - HIRAI - BES ol &kt ] B2t
ORMEN & BSSAM 27 =g
76,9602 * 10H+52U*23] 7,6%
206 =4I 6,720 6,720 0
01 M=Hl 6,720 6,720
OsgHoll= (200l S) ML 7
160,000 * 14ha*33] 6,720
307 2120l ™ 1,104,000 1,104,000 0
02 QIHABAMAMAEE 1,104,000 1,104,000 0
OgGF=A SSZEM KJAMS(EEE 50%) 804,000
~ZETIW N
1,500&+758,0000H*50/ 100 568,500
—sithg SSEIT X2
1,50024%314, 0000H50/ 100 235,500
OYZEAD M3 NA(SES 504)
2,000&*150,0004 XH+50/100 150,000
OgZ=ALL RSS2l NA(BEXE2 50%)
2,000&*150,0004 XH+50/100 150,000
402 QIZEXHE20|1 A 94,150 111,500 A17,350
01 QIZFRHE2 A S & (REMITHE ) 94,150 111,500 A17,350
o2 2= ol=x)| XN(BEZE 50%)
700,0002! % 15CH+50/100 5,250
OIIL2ALDE JEXIS LD X (22 50%)
10,000, 0002 3ha*50/ 100 15,000
OB+ 9B4EE I NA(BIIR, +22)
(2X8 50%) 500, 0002 *160ha*50/ 100 40,000
OMZSEAII BH|MA X2 (2EE 50%)
1,300,000 *30= I++50/ 100 19,500
Ol RLU0IME X2 (2EE 50%)
1,800, 000 & *16ha*50/100 14,400
(=) =M AAIZSTHS I 1,275,000 916,500 358,500
| 510,000
& 229,500
Al 535,500
402 QIZEXE201 ™ 1,275,000 916,500 358,500
Il 510,000
& 229,500
Al 535,500
02 QIZINEALE X (01X ) 1,275,000 916,500 358,500
OL==NEE ANESHSIAL
2,550,000,0002*141%50/100 1,275,000
J| 510,000
& 229,500
Al 535,500
(Z)U=BERXXA 294,000 250,000 44,000
& 88,200
Al 205,800




A

X XH -
(=

=PIl

ol ArsHIYEH Yt (CHl: X 21)
A EB - SRI(E) - KIRAY - BaS ol v ] HIDE2
402 DIPRFE01 N 294,000 250,000 44,000
= 88,200
Al 205,800
02 SIRIXFEAI S E(OIF ) 294,000 250,000 44,000
Ol =018 MeMED K
588,000, 0002 % 141%50/ 100 294,000
< 88,200
Al 205,800
(SR EEE ] 294,000 283,000 6,000
< 32,250
Al 75,250
== 186,500
402 QI2ERFE0I A 294,000 288,000 6,000
= 32,250
Al 75,250
== 186,500
02 SIIXFEAII S E(OIFTHR) 294,000 283,000 6,000
OSTHEI| & SEBDAZAI(CI2NL|TED))
N 9,000,000 *30CH*50/ 100 135,000
< 17,550
Al 40,950
== 76,500
OF 88 S222)|(2#SS)|) X
6,000, 00021 %3CH*50/ 100 9,000
= 2,700
Al 6,300
OBSTELHIN(SESSI) L BESRISHI| X
20,000,0002*30CH«25/100 150,000
< 12,000
Al 28,000
== 110,000
(S)FTAHS RIS ESH XA ALY 18,000 7,500 10,500
= 5,400
Al 12,600
402 QI2IRFE01A 18,000 7,500 10,500
< 5,400
Al 12,600
02 SIIXFEAII S E(0IF T R) 18,000 7,500 10,500
OFTALHS TR ESH X2l
36,000,0002%141x50/ 100 18,000
= 5,400
Al 12,600
(BNEREEREENEENE 214,000 0 214,000
< 64,200




2A:

X XH -
(=

=PIl

el s AWH Aot (Crel: &)
S - EE - 9I(30) - HIRAI - BES ol &kt ] B2t
Al 149,800
402 LI2EAFE01M 214,000 0 214,000
& 64,200
Al 149,800
02 QIZFXHEAIHA E X (OIFTHA) 214,000 0 214,000
Ootgii&E M2ER ZLAE
428,000, 00081 % 14150/ 100 214,000
& 64,200
Al 149,800
(D) MELAAD AIE22] =01 K& 434,400 390,000 44,400
& 130,320
Al 304,080
307 2IZ2t01 & 434,400 390,000 44,400
L= 130,320
Al 304,080
02 QIRHEAIAIHE R 434,400 390,000 44,400
OXSAAL AlE2Hel =0HKI=
10,0002 *86, 8804 Xt+50/100 434,400
& 130,320
Al 304,080
(&) MASSRAAIE 2] 25,856 24,576 1,280
& 6,464
Al 19,392
307 2I1Z2t01 & 25,856 24576 1,280
& 6,464
Al 19,392
02 QIRHAAAIEE R 25,856 24,576 1,280
Outal sl SEXIZAIY 22/l X
16, 160,000 & *2JH A-+80/100 25,856
& 6,464
Al 19,392
(&) Dt=eAH AR TR | 282,880 67,530 215,350
& 36,099
Al 84,231
= 162,550
402 QIZHRE0| 282,880 67,530 215,350
L= 36,099
Al 84,231
= 162,550
02 QIZEXH2 A 2 (01X THRA) 282,880 67,530 215,350
O&IEE AMESH K2
280, 000 & *52ha*50/ 100 7,280
& 2,184
Al 5,096




2A:

=PIl

Do R0IRNE OIS (SUHL S/ 5 - 5E)
el s AWH Aot (Crel: &)
S - EE - 9I(30) - HIRAI - BES ol &kt ] B2t
Ot ZIIMEHM XIR
500,000,000 *141%50/100 250,000
& 26,235
Al 61,215
= 162,550
Ontel SEHIEH| X& 25,600
—HII I EE=FED]
3,300,000 & *9CH*50/100 14,850
= 4,455
Al 10,395
—sgE+=xell|
7,000,000 &*2CH*50/100 7,000
& 2,100
Al 4,900
—AAZ S| 2,500, 0002 %3CH+50/ 100 3,750
& 1,125
Al 2,625
(RNLEA=3SBLMSLRR 765,000 135,000 630,000
= 425,000
& 102,000
Al 238,000
402 QIZHRHE0| 765,000 135,000 630,000
= 425,000
& 102,000
Al 238,000
02 QIZFXHEAIH EZ (0| ETHA) 765,000 135,000 630,000
OeXNEZsdEH sdX&
850,000,000 *141x90/100 765,000
= 425,000
& 102,000
Al 238,000
() VWA MACT| DB Z LAY 790,000 0 790,000
| 632,000
= 47,400
Al 110,600
403 AXISHISA=01H 790,000 0 790,000
Il 632,000
& 47,400
Al 110,600
02 BI1 2SO0 N2 AE AL 790,000 0 790,000
O 2HUAHRD B LAY
790,000,000& * 14! 790,000
| 632,000
& 47,400




2A: sJIs4H
M JANES Vs (sHMLM/ s - 5&)
ol ArsHIYEH Yt (Ct

S - B - ORI(3]H) - HISAR - BaS Ol kot ] HIDE2
[ Al 110,600
JIEL HAE HHA Y5t 251,600 138,730 112,870
JIEF DHAIT AAF TTD AMY 251,600 138,730 112,870
402 QIEXHE0[ A 251,600 138,730 112,870
01 DIZIXH2 AN B X (XA THE) 251,600 138,730 112,870
OXEE MAD|BE XA (BEE 50%) 106,000
—TC HOR A X
100,000, 0002 *2ha*50/ 100 100,000
—TC JISOHHl 2HXHH X
6,000, 0002 *2ha*50/ 100 6,000
OLT Y& HY KA (BES 50%)
165, 0002 * 1002+50/ 100 8,250
OHRF (250, XNF S) LOIWHH X Ar
(2X2 50%) 600, 0002 * 110ha*50/ 100 33,000
O=22012X XHAIL(EXS 50%)
50,00024%1,2002 A*50/100 30,000
O=20 MAD|BE XA (BES 50%) 44,350
— 220t DAL XIZFAIA KA
10,000, 0002 *6ha*50/ 100 30,000
—=2250F AL EX XA
5,740, 0002 *5ha*50/ 100 14,350
Oz TR XA (BEE 50%)
4,00021%15,0007H*50/ 100 30,000
SRS MAD|E XY (SEHLM S - &) 3,484,339 2,303,950 1,180,389
p) 159,400
[ 459,930
Al 2,565,009
= 300,000
ZI[0lAt M 23 950,739 901,200 49,539
OIAMM AL J|BHEtS 853,800 853,800 0
201 LB 13,800 13,800 0
01 AtR2t2|H 13,800 13,800 0
OZZE 2MIIERE 7Y 7,400
—S4sEN 250,000+ 10 2,500
—S48% 100, 00024 +498 A 4,900
OEBZOZE SAIIZE ZX2AH 5,420
—SH=sFY A 199,000 %10 1,990
—S438& A 70,0003 498 A 3,430
OEZQIZE SMIIBE ZEXAA 22| i)
20,0002 498 A 980
402 QIHXHE0| & 840,000 840,000 0
NI ENEEES O IED 840,000 840,000 0
OQI&H SHIK SXHH XIR(SEHX], K&K, X2t S)
(BES 50%)
400,000, 0002 * TA50% 200,000




2 s2)|s4H
M SSRS MAD|BF TM(SRITHAY A/ SO - 5E)
ot SJ|elar ZME 2A5) CEEEED
S - ZE - SI(SH) - MIRAR - BES ol &kt ] B2t
OQIAHE (&K 22| EANH X (EXS 50%)
200,000, 00024 1A1%50% 100,000
OO0l MAL STHH KIR(BXE 50%)
100,000, 0002 1A1%50% 50,000
OO0l MAN STISIHH 2 H2MSH XK
(NIGHLRB) (2ES 50%)
220,000, 00024+ 1A1%50% 110,000
OZD|Qlat MAD|E &= XIA(2XS 50%)
760,000, 0002 * 1A50% 380,000
AEHH USRI SAA I A ALY 34,000 29,200 4,800
201 L2 A 34,000 29,200 4,800
02 2329H| 34,000 29,200 4,800
OLEDAZE B223(MIIR2, AHUARE,
ZAF =22) 900,000 * 122 10,800
OLEDHZEH A AR HAE
1,200,0002* 122 14,400
OLEpD™ZHE ot E A 2,000,000&%23 4,000
OAIEZHIR X 4,800
—LEDEZE RKI2= 4,800,000 %1 Al 4,800
ZI[QIASAICH 2 59,939 15,200 44,739
101 Q124H] 8,389 0 8,389
M IIHR22EES 8,389 0 8,389
OZEDIQIAERDIZE 2422 Q1R
76,960 x4% #2521 %13 7,6%
OZEDIQIASHIIZE 2422 40 2E2
76,9602 #4 2 %2520+ 693
201 L2 2,950 1,200 1,750
01 AF22t2IHI 2,950 1,200 1,750
OZ&DIZHE ZHQZ RAE BAHIRY
100,000 % 122 1,200
OQIMEME HIHREA 2 340 M
70,0002 %25H 1,750
206 HEHl 42,000 8,000 34,000
01 XHEHl 42,000 8,000 34,000
OYFAl SHIIBE ZEZS AEH ME
12,000,000+ 14! 12,000
OZEJIQIAEH AaHZEA L Z0IEH0] M
10,000,000 % 14! 10,000
OZJIQNSH L+ATHH HIZES ME
20,000,000 x 14! 20,000
301 LEHEAS 6,600 6,000 600
11 #AFAIHIXI2I2 1,600 1,000 600
OSAIC 319082 L WKAAX 34|
8,0002%202*103] 1,600
14 J|EI2 A3 5,000 5,000 0




A sSII=dH

HO SANE MM 8 (SENLLN/SY - 5E)
Chol: ED|olA HM2 25 (Crol: :i21)
SA - A SR(B) - AIRAI - BAS o vy ] bl D2
O=a JISNEs 22015 ZA|
200, 0003 #2501 A 5,000
ey AlZgels 29 3,000 3,000 0
308 AHXIEHISOIE 3,000 3,000
07 AXIEM2tRE = 3,000 3,000 0
Olels 8= A&=2+8lls fE=
3,000,000 14} 3,000
Sa&E Mot 2,533,600 1,402,750 1,130,850
D) 159,400
= 459,930
Al 1,614,270
== 300,000
(2)SEXS(UY)ULAILSUEXIR 298,500 205,000 93,500
Jl 119,400
= 53,730
Al 125,370
402 I X201 298,500 205,000 93,500
p) 119,400
= 53,730
Al 125,370
02 RIRENE ARG E (01X TH) 298,500 205,000 93,500
OSSHS () MAAIE SR
597,000,000 *141x50/100 298,500
7l 119,400
s 53,730
Al 125,370
(D)dEMASLXIR 935,333 370,000 565,333
= 280,600
Al 654,733
402 2IZHA=201H 935,333 370,000 565,333
s 280,600
Al 654,733
02 BIINHE ARG E (01X THR) 935,333 370,000 565,333
OMOHIY SAXIE
80,000,000 *141x50/100 40,000
= 12,000
Al 28,000
Oelgdty sdXId
1,790,666, 0003 14150/ 100 895,333
= 268,600
Al 626,733
NS ENSE =4 132,500 125,000 7,500
402 RIZHA=01A 132,500 125,000 7,500
01 QI RH2 A S (XHHITHS) 132,500 125,000 7,500




2A: =dI|sHH
MR SHEB MAD|H B (SHHSLL/SY - 5E)
el SeEE dat (Crel: &)
S - B - ORI(3]H) - HISAR - BaS Ol kot ] HIDE2
Ogox MAsIE s XA (BEE 50%)
80,000,000 14! x50% 40,000
OSE&Z&5E JI3olld sAHM XJ(2XE 50%)
70,000, 0002 1 A1 x50% 35,000
OLERIHAEZE SAHH K2 (HAHK) (EX2
50%) 47,000, 0002 * 1AL*50% 23,500
ONF&=28 S| K (BES 50%)
28,000, 0003 * 141 x50% 14,000
OSENE M=t EAHST X=(ZES 508
30,000, 0002 * 14! x50% 15,000
OAEXSY HSASTM KB (BES 508)
10,000, 000& * 141%50% 5,000
(=) AFHIDIETHEHAIE X1 100,000 66,000 34,000
| 40,000
= 18,000
Al 42,000
402 QIZEXHE0|H 100,000 66,000 34,000
| 40,000
& 18,000
Al 42,000
02 QIZINEALE X (01X ) 100,000 66,000 34,000
OLFHIDHE THEHAIE XA
25,0002 +8,000m**50/100 100,000
| 40,000
& 18,000
Al 42,000
(R)ASE=S=LXA 636,667 336,650 300,017
& 101,000
Al 235,667
= 300,000
402 BIZEXE0|H 636,667 336,650 300,017
& 101,000
Al 235,667
= 300,000
02 QIZIX A B X (0| E) 636,667 336,650 300,017
O/ ASHSFHET
1,233,334,0002*141%50/100 616,667
& 95,000
Al 221,667
= 300,000
O0IENA, 2UNE SHXA
40,000,000&*1A1%50/100 20,000
= 6,000
Al 14,000
() S| MAA S Z AR D XA 22,000 16,500 5,500




SN sYI|ISHE
MH: SHES MAD|P XA (SRS S - SE)
ol SEHEE it (CHl: X 21)
S - EE - 9I(30) - HIRAI - BES ol &kt ] B2t
< 6,600
Al 15,400
402 OIRIX=01& 22,000 16,500 5,500
[= 6,600
Al 15,400
02 QIZFXHEAIS B (OIETH ) 22,000 16,500 5,500
O3t MAAIL Z™ed JoXI
44.,000,000* 141%50/100 22,000
[ 6,600
Al 15,400
ENEE NI 408,600 250,000 158,600
402 OIRIX=01H 408,600 250,000 158,600
01 QIZFXHEAIS S (XHHITH ) 408,600 250,000 158,600
O0E ME 22 NA(EXE 50%)
460,000, 0002 * 141 %50% 230,000
OL-XIMAR=E S XIR(2ES 50%)
180,000, 0002 *1A1%50% 90,000
OMARE 2T 23 NA(EXE 50%)
100,000 % 1,000=+50% 50,000
OMAE=2EE ZAY| sXHY XY (EES 50%)
2,500, 0002 *8ha*50% 10,000
Ozatxtes ZoiY| S KR (2XE 50%)
2,500,000 * 10ha*50% 12,500
OAE3H HAMETINE ST K (BES 50%)
7,000, 00024 *2ha*50% 7,000
O2 - HIZ= MBE Mol XI(2ES 70%)
2,600, 00021 *5ha*70% 9,100
HHSAFH|(ZEF =) (JIEHIIEN 95,302 88,526 6,776
=2 95,302 88,526 6,776
JI=Z| 95,302 88,526 6,776
201 2Bt 24,382 21,566 2,816
01 AFR22IY] 24,382 21,566 2,816
O=AEX 22UH| (M)
20,0002 %172t A 128 4,080
OS20HAHI 8,0002+6A1x 172* 122 9.7%2
Ogbte2 100,000 * 122 1,200
OAR2 TN 50,000 122 600
OARD 2| 7.690
—SAD| 2l(AE) 500,000 *1CH 500
—IglE 22 100, 0002 *5CH*50% 250
—=AD| El 200,000 %53 *1CH 1,000
—DRIED|(BY) EU
200,000 53| *5CH 5,000
—PC==2| 100, 0002 % 17 CH*20% 340
—JIEt2IH| 50,0002 * 122 600




D SYIIsHE

D HEPIIH(2EZ =) (OIEHDJIE

- 1= (Crel:mel)
SA - A SR(B) - AIRAI - BAS o vy ] bl D2
OJIEr Ar22eltl 5, 0002 % 172+ 122 1,020
202 01t 67,320 63,360 3,960
01 = L0 67,320 63,360 3,960
OB =D ARFEX 0| 67,320
—2Ljoi 20,0002+ 17212+ 122 48,960
— 22| 04d| 90,000 * 17+ 122! 18,360
203 2T 3,600 3,600
04 BAEIYLEAL| 3,600 3,600 0
ORNSYALEA| (22 s
300,000 * 12 3,600
=4D[EF ZY(SHHSH A/ 5 - &) 12,002,237 8,831,742 3,260,495
= 1,342,366
| 1,724,628
S 1,670,452
Al 7,121,041
= 233,750
srede |4 3,020,570 2,319,742 700,828
p] 277,830
S 585,060
Al 2,157,680
(E)EANZMAT A 333,700 25,000 308,700
S 100, 110
Al 233,590
301 YErEEZ 58,000 10,000 48,000
S 17,400
Al 40,600
14 B2 a2 58,000 10,000 48,000
OH LIS IAIZ R 28
400, 0009 +25na 10,000
S 3,000
Al 7,000
OZAZMAERAS 2
100, 00084 +480ha 48,000
S 14,400
Al 33,600
402 SIIXHE0IA 275,700 15,000 260,700
[ 82,710
Al 192,990
02 BIRIXFEARIEE(OIA T ) 275,700 15,000 260,700
OZAIRMAEHIXI
30,000, 0002!* 1 I E#50/ 100 15,000
[ 4,500
Al 10,500




2A: =YII=HEH
B HAZEADIY FH(SUHSS/ S - SE)
Ee. SRAY =4 (Ct2]: M)
SN - BB - S(3H) - MISAY - BAS ollAbol ] Hm=2
Y=
300,000,000 %1CH*50/100 150,000
o= 45,000
Al 105,000
OFASIHIINEM EL S0 K&
50,000,000 «3CH*50/100 75,000
& 22,500
Al 52,500
OARRSEN2AHIN
300,000+ 170ha*70/ 100 35,700
& 10,710
Al 24,990
(2)ZAISMAZ AILEIXIME X 584,010 244,890 339, 120
J| 194,670
= 116,802
Al 272,538
301 LEtEXZ 584,010 244 890 339,120
J| 194,670
= 116,802
Al 272,538
14 J|Et2 A2 584,010 244,890 339, 120
OAF 2l Xl HMIZ=H]|
63,000& %10, 300&%90/ 100 584,010
J| 194,670
= 116,802
Al 272,538
(R)ZAISMAZ SX2 XIS 21,000 16,800 4,200
J| 9,000
& 3,600
Al 8,400
402 SI2+X=0| & 21,000 16,800 4,200
J| 9,000
& 3,600
Al 8,400
02 QIZIKIEZ2AIE EZ (0| ETHLY) 21,000 16,800 4,200
OZAIZMME S XA
120,000 %250ha*70/ 100 21,000
J| 9,000
& 3,600
Al 8,400
(Z2)ZAI2MAZ J|HAEHIRY XA 120,000 60,000 60,000
J| 30,000
== 27,000
Al 63,000




SN SIS
HE: MABAD|B TS (SEHRSSA/SY - 5F)
el ereAY |4 (Crel: &)
S - ZE - SI(SH) - MIRAR - BES ol &kt ] B2t
402 OIFAF=01 M 120,000 60,000 60,000
p] 30,000
= 27,000
Al 63,000
02 CIZFXFEAIIE Z (O1& ) 120,000 60,000 60,000
OZAIZMAE JIHEH 2 X
150,000, 0002 x24I E%40/ 100 120,000
pJ 30,000
< 27,000
Al 63,000
BRERENE 194,100 153,900 0,200
= 58,230
Al 135,870
402 BIZFAF=0l& 194,100 153,900 40,200
< 58,230
Al 135,870
02 BIZIXHZAIS E (01 HTH ) 194,100 153,900 40,200
OBAASIE AIREIIRI K
30,0002 * 12, 940350/ 100 194,100
< 58,230
Al 135,870
AZEIR BUE SA ALY 792,540 761,632 30,908
201 LBr2 | 3,540 2,632 908
01 AlR22H 3,540 2,632 908
OgzeI=It nSIH R0
2,00021%1,0005 2,000
oz 254 77,0002+ 105%23] 1,540
206 =0l 35,000 75,000 40,000
01 M2 35,000 75,000 40,000
OYEsI2 21t 014l HE 7Y
100,00021%3505 35,000
301 LErE X = 579,000 479,000 100,000
14 JEr2 a3 579,000 479,000 100,000
O (Elite Cow) XY
5,000,00021+85 40,000
OYFER MUA £HE 04
450,00021%2805 126,000
Ozt EXEel 40,0002 *2505 10,000
OYFeR 24% E51%2U3
100,0002%2,000F 200,000
OYFse HSAWAE 2%
200,00021%5005 100,000
Q8IRYNLE S=2= 24
300,00024% 105 3,000




2 s2)|s4H
I HAFAD|E ZY(SEHLSN/ S - SE)
CHel: B4 |4 (Ctel: ®M2)
S - EE - 9I(30) - HIRAI - BES ol &kt ] B2t
OO0IZAR AR ZHed=2 A
100,0002% 1, 0005 100,000
402 QI2HXHE0| & 175,000 205,000 30,000
01 QIZF A2 A E R (XHHITHS ) 175,000 205,000 30,000
OSeMeA HH XA(2XS 50%)
10,00024%27 ,0005%50/ 100 135,000
OS2I 22| AIAE AX|(EXS 50%)
5,000,0002 % 1074 A*50/100 25,000
OZFEI2 NUSEAIY JIX K (BXS 50%)
2,000,000 * 1574*50/ 100 15,000
BESNENS 335,450 284,200 51,250
[ 100,635
Al 234,815
301 YEEAS 24,850 86,300 A\B1,450
[ 7,455
Al 17,395
14 JIEI2 A3 24,850 86,300 61,450
Ot22F2H0] 4] 355,00084%705 24,850
[ 7,455
Al 17,395
307 2I2H0| & 310,600 197,900 112,700
[ 93, 180
Al 217,420
02 QIFAEAAIIE X 310,600 197,900 112,700
OetRssE 6,000 %10,000% 60,000
[ 18,000
Al 42,000
OZIXt=E0l 20,0003 *2005 4,000
[ 1,200
Al 2,800
Ost2LT LS AAL 10,0004 +1, 1005 11,000
[ 3,300
Al 7,700
OSUBI2LAASOMK|MAE 2R 2
200,000 %135 2,600
[ 780
Al 1,820
OBIRAARMH A ALY
90,0004 1,2005 108,000
[ 32,400
Al 75,600
OMSEDIZARHISIA
500,0002%2505 125,000
[ 37,500
Al 87,500




2A: s2)|=4dH
B MEEAD| T (SRHLSL 5O - 5E)
o©el: RN '4 CEEEED
S - EE - 9I(30) - HIRAI - BES ol &kt ] B2t
(Z)SASIPDIRMAIE 218,800 318,050 A99,250
& 65,640
Al 153,160
402 2I2HXH201 N 218,800 318,050 A99,250
& 65,640
Al 153, 160
02 QI X EAIEE (01X THEA) 218,800 318,050 A99,250
Ost2At2 XHsZ01J1 K&
20,000,000 %54 A~*50/100 50,000
& 15,000
Al 35,000
OFArelZ oCTv A&
2,000,000&*10CH*50/100 10,000
& 3,000
Al 7,000
(@)= PARLESPSIL EUNE
15,000&*2,2005*60/100 19,800
& 5,940
Al 13,860
OXN=EHAMEBZAKXA
55,0003 *5005*60/100 16,500
= 4,950
Al 11,550
OHIMNEX™EIIIXI&A
30,000,000 *4CH*50/100 60,000
& 18,000
Al 42,000
OSAsIH| AHAIA
1,000, 0002 *541%50/ 100 2,500
& 750
Al 1,750
@sIFN=FSPIDNEE] 30,000, 0002 *4+50/ 100 60,000
& 18,000
Al 42,000
(D)BMNERSELS 27,650 180,670 153,020
= 8,295
Al 19,355
402 2I2HXH=0|1 ™ 27,650 180,670 A153,020
& 8,295
Al 19,355
02 QI XIEAIEE X (01X THE) 27,650 180,670 A153,020
OFNERSUHTS M IAI (HEXISE)
6,500,000& *5CH*70/100 22,750
= 6,825
Al 15,925




A sSII=dH
T GREDIE EH(SEHLS S - 5E)
ol A Y (CHo: X 2l)
S - EE - 9I(30) - HIRAI - BES ol &kt ] B2t
OENERE T A IA (OIS AN A E)
1,400,000 *5CH*70/100 4,900
& 1,470
Al 3,430
()=l EE =2 XA 200,000 103,000 97,000
& 60,000
Al 140,000
301 LBtE&Z 200,000 103,000 97,000
& 60,000
Al 140,000
14 JIEtE2 43 200,000 103,000 97,000
ON=MNEd = XA
4,000,000&*2005+25/100 200,000
& 60,000
Al 140,000
()FMS01=5242] XA 88,320 81,600 6,720
J| 44160
& 13,248
Al 30,912
301 LetEHE= 88,320 81,600 6,720
| 44160
= 13,248
Al 30,912
14 JIEtE 43 88,320 81,600 6,720
OFA20IE /M (HEEEI)
9,60094%9,200F 88,320
| 44,160
& 13,248
Al 30,912
() Z2dsEHEXA 105,000 90,000 15,000
= 31,500
Al 73,500
402 QIZEXHE01 A 105,000 90,000 15,000
& 31,500
Al 73,500
02 QIZIN 2 AL E X (01X ) 105,000 90,000 15,000
OsesIHEZINEEHIXIR
30,000,000 *7CH*50/100 105,000
& 31,500
Al 73,500
EEEE 28 3,937,559 3,761,484 176,075
= 1,325,816
| 218,706
L= 523,097




A sSII=dH
T GEBA|H T (SUHL S/ B - BE)
Chol: D|EFAY 2F (CHol: xi=l)
S - ZE - SI(SH) - MIRAR - BES ol &kt ] B2t
Al 1,712,140
= 157,800
()3sLH 22 225,671 219,985 5,686
Il 112,836
& 33,850
Al 78,985
307 2I2t0 ™ 225,671 219,985 5,686
J| 112,836
& 33,850
Al 78,985
02 QIRHAAAIEE R 225,671 219,985 5,686
OZSZMH2EAA
225,671,000 *14! 225,671
| 112,836
& 33,850
Al 78,985
(2)FHS L HAESAlI=H 256,500 285,000 A28,500
= 128,250
& 38,475
Al 89,775
301 LEt8&Z 256,500 285,000 228,500
= 128,250
& 38,475
Al 89,775
14 JIEtE2 43 256,500 285,000 A28,500
OF NS0 LHABTAI=HI(L)
5,000&*40,5005 202,500
= 101,250
& 30,375
Al 70,875
ORI AT EAI S (212)
10,000&*5,4005 54,000
= 27,000
& 8,100
Al 18,900
(2)FHSHLESKA 338,005 375,151 A37,146
= 231,211
& 32,037
Al 74,757
206 =4I 126,755 140,471 A13,716
= 83,336
& 13,025
Al 30,3%4
01 M=Hl 126,755 140,471 213,716




SA =S
B MTEAD|E EH(SEHSSN/ SY - 5E)
cel: JiIENgY 28 (CHol: M2l
S - ZE - SI(SH) - MIRAR - BES ol &kt ] B2t
OTMS WAl o 25t PA(AFL)
126,755,000 % 1Al 126,755
= 83,336
[ 13,025
Al 30,394
301 LBIE A= 211,250 234,680 A23,430
= 147,875
[ 19,012
Al 44,363
14 JIEtE A2 211,250 234,680 A23,430
OTMS WMAIX (ML)
422,500, 0002 * 1AI%50% 211,250
= 147,875
[ 19,012
Al 44,363
(2)APHATHE(H Y =) 18,950 0 18,950
= 5,685
[ 3,979
Al 9,286
301 LBIEAZ 18,950 0 18,950
= 5,685
[ 3,979
Al 9,286
14 JEtB A2 18,950 0 18,950
OA PHY MEH(HYs)
10,00024%1,8955 18,950
= 5,685
[ 3,979
Al 9,286
(2)AHEBAZ 500,000 500,000 0
= 400,000
[ 50,000
Al 50,000
301 LBIEAZ 500,000 500,000 0
= 400,000
[ 50,000
Al 50,000
14 BB A2 500,000 500,000 0
OaHEEAZ 5,000,000%100& 500,000
= 400,000
[ 50,000
Al 50,000
(2)II=EMEXAIS2E2IHI X2 6,250 6,250 0
= 2,500




A sSII=dH
T GEBA|H T (SUHL S/ B - BE)
Chol: D|EFAY 2F (CHol: xi=l)
S - ZE - SI(SH) - MIRAR - BES ol &kt ] B2t
& 1,125
Al 2,625
201 LBt 6,250 6,250 0
= 2,500
& 1,125
Al 2,625
01 AtR2eld] 6,250 6,250 0
OJI=0E X A= 22|
6,250,000 14 6,250
= 2,500
& 1,125
Al 2,625
(2)It=0SRL=228X2 50,000 0 50,000
= 20,000
< 9,000
Al 21,000
201 et | 50,000 0 50,000
= 20,000
& 9,000
Al 21,000
01 AFR2eld] 50,000 0 50,000
OEHENLBAS X
50,000,000& 170 2 50,000
= 20,000
& 9,000
Al 21,000
(=)ol =X 211,740 300,000 288,260
Il 105,870
& 31,761
Al 74,109
402 I2EXHE01M 211,740 300,000 88,260
| 105,870
& 31,761
Al 74,109
02 2I2H A E X (01X THE) 211,740 300,000 288,260
OgrdolmetA ] XIHAE
14,116,000 x2571 260/ 100 211,740
| 105,870
& 31,761
Al 74,109
(T)gedoime =X 67,000 79,000 A12,000
L= 20,100
Al 46,900
402 I2EXHE01M 67,000 79,000 A 12,000




S2A: S| SHIE
HE: HEAZAD|E ZH(SEHLSMN/ 5 - 5E)
Ee: JiEXMYY oA CEEED
S - ZE - SI(SH) - MIRAR - BES ol &kt ] B2t
< 20, 100
Al 46,900
02 CIIXF2 AL B A (O &) 67.000 79,000 A12,000
OASAEXAL (ERR)
5,000,00024*107HA*50/100 25,000
[= 7,500
Al 17,500
OgtA AlE XA (2Et2])
12,000, 0002 %794 A*50/ 100 42,000
[ 12,600
Al 29,400
(R)EMRSE=A 77,382 60,750 16,632
= 38,691
[ 11,607
Al 27,084
301 UBHEEZ 77,382 60,750 16,632
= 38,691
[ 11,607
Al 27,084
14 J[ErE A2 77,382 60,750 16,632
OFMRIASEN X
9,9002!* 1,030CH* 1274 = *50/ 100 61,182
= 30,591
[ 9,177
Al 21,414
OGPSHL )| AAIFS Z2HH 2=
60,00024270CH 16,200
= 8,100
[ 2,430
Al 5,670
(2)IIEHIH L AERAR 454,337 394,437 59,900
= 262,823
[ 57,454
Al 134,060
206 Xi=H] 305,043 282,229 2,814
= 188,176
[ 35,060
Al 81,807
IEE] 305,043 282,229 22.814
ONs24E2I 305,043, 0002 %1 Al 305,043
= 188,176
[ 35,060
Al 81,807
301 YBHEEZ 149,294 112,208 37,086




A sSII=dH
B HAZEADIY FH(SUHSE/ S - SE)
Chol: D|EFAY 2F (CHol: xi=l)
S - ZE - SI(SH) - MIRAR - BES ol &kt ] B2t
= 74,647
& 22,394
Al 52,253
14 JIEtE2 43 149,294 112,208 37,086
OHHXIMZHIOIAA 8HAl K&
149,294,000 14 149,294
= 74,647
& 22,3%
Al 52,253
(F)WI=LA29 XA 360,000 397,980 237,980
= 61,650
& 43,155
Al 100,695
= 154,500
301 LetE&Z 360,000 397,980 237,980
= 61,650
& 43,155
Al 100,695
= 154,500
14 JIEtE2 43 360,000 397,980 237,980
AEZ e ) HE ST
18,000&*20,0005 360,000
= 61,650
& 43,155
Al 100,695
= 154,500
(Z)UIISEYUAI 104,360 92,118 12,242
& 30,318
Al 70,742
= 3,300
206 =4l 84,560 73,918 10,642
& 25,368
Al 59,192
01 K=l 84,560 73,918 10,642
OtI=RSH oo xI 2
84,560,000 14! 84,560
= 25,368
Al 59,192
301 LBtEdZ3 19,800 18,200 1,600
& 4,950
Al 11,550
= 3,300
14 JIEIE 4= 19,800 18,200 1,600




SN SIS
Hu: HABAD|E ZY(SEHLSA/ 5 - 5E)
el JIENEY 22 (Crel: &)
S - ZE - SI(SH) - MIRAR - BES ol &kt ] B2t
OxE=EcH(Z) HEESH|
18,0002+1, 1005 19,800
S 4,950
Al 11,550
= 3,300
BEPSIESEREERES 76,262 58,333 17,929
S 22,879
Al 53,383
206 MH=d 76,262 58,333 17,929
S 22,879
Al 53,383
01 M=t 76,262 58,333 17,929
OBAIIEDIE ol X
76,262, 000@4%14] 76,262
[ 22,879
Al 53,383
(Z)IFEAR Jelxd 35,002 0 35,002
= 17,546
S 5,264
Al 12,282
301 LetENE 13,972 0 13,972
=2 6,986
S 2,096
Al 4,890
14 JIEIR A2 13,972 0 13,972
OJFSHA HMeldl X2
3,00024%7, 762 +60% 13,972
= 6,986
[ 2,096
Al 4,890
402 OIIXHE0IA 21,120 0 21,120
= 10,560
5 3,168
Al 7,392
02 BRINHEAISEZ (OIM TN ) 21,120 0 21,120
OJFSHAK A8 X8
800, 0002 *44H*60% 21,120
2 10,560
S 3,168
Al 7,3%
()= 2l K 120,000 120,000 0
=2 60,000
[ 18,000
Al 42,000




A sSII=dH
T GEBA|H T (SUHL S/ B - BE)
Chol: D|EFAY 2F (CHol: xi=l)
S - EE - 9I(30) - HIRAI - BES ol &kt ] B2t
301 LBtEHZ 120,000 120,000 0
= 60,000
& 18,000
Al 42,000
14 JIEtE2 43 120,000 120,000 0
OJtg=sot 2822 X
10,000,000 *207H 260/ 100 120,000
= 60,000
& 18,000
Al 42,000
(=) =D YH K& 48,000 48,000 0
= 24,000
L= 7,200
Al 16,800
301 LetE8E= 48,000 48,000 0
= 24,000
& 7,200
Al 16,800
14 JIEtE2 43 48,000 48,000 0
OHAED| SSLHXAAS
20,000, 0002 *3JH-*80/100 48,000
= 24,000
& 7,200
Al 16,800
(DERUEIANTESHE X XA 18,740 15,300 3,440
= 9,370
& 2,811
Al 6,559
301 LetEE= 18,740 15,300 3,440
= 9,370
& 2,811
Al 6,559
14 JIEIE43 18,740 15,300 3,440
OXFISRANTSHE R XA
223,000 *8421 18,740
= 9,370
& 2,811
Al 6,559
(R)SH=L2ILASHIEXA 128,180 132,260 A4,080
= 64,090
& 19,227
Al 44,863
101 @1244| 67,200 67,200 0
= 33,600




A sSII=dH
T GEBA|H T (SUHL S/ B - BE)
Chol: D|EFAY 2F (CHol: xi=l)
S - ZE - SI(SH) - MIRAR - BES ol &kt ] B2t
& 10,080
Al 23,520
04 J12tHI22 NS E+ 67,200 67,200 0
OSHEA 2ol
80,0002 x4 210 67,200
= 33,600
L= 10,080
Al 23,520
201 et | 5,000 25,400 220,400
= 2,500
& 750
Al 1,750
REESE] 5,000 18,000 13,000
OSHEA &% L HIHHIS
5,000,000 14 5,000
= 2,500
& 750
Al 1,750
206 =4I 55,980 39,660 16,320
= 27,990
& 8,397
Al 19,593
01 M=Hl 55,980 39,660 16,320
OLA=AUE 72 10,0002 x4 ,598L 45,980
= 22,990
& 6,897
Al 16,093
ogos JE 2 10,0002!%1,000 10,000
= 5,000
& 1,500
Al 3,500
(Z)ESAAEXA 70,000 70,000 0
& 21,000
Al 49,000
101 @1248| 20,000 20,000 0
L= 6,000
Al 14,000
04 JIZtMIZZ2 XS E+ 20,000 20,000 0
OHBASAE EHRY
100,000 *2H*100 20,000
& 6,000
Al 14,000
201 LBt 10,000 10,000 0
& 3,000




A sSII=dH
B HAZEADIY FH(SUHSE/ S - SE)
Crol: JiEmelY oF (chel: =i2l)
S - ZE - SI(SH) - MIRAR - BES ol &kt ] B2t
Al 7,000
02 Z3=22H| 10,000 10,000 0
OHELSAIE RRIE=H|
10,000, 000 * 14! 10,000
& 3,000
Al 7,000
206 =4I 40,000 40,000 0
& 12,000
Al 28,000
01 A=l 40,000 40,000 0
ONBASAIE A=0tE 79
40,000,000 14 40,000
L= 12,000
Al 28,000
(Z)EZH0 A 212,850 196,846 16,004
= 63,855
Al 148,995
206 M=l 64,400 62,096 2,304
& 19,320
Al 45,080
01 K=ol 64,400 62,006 2,304
O7HY S YTz P(ASUE)
10,000&*2,9002I1H 29,000
& 8,700
Al 20,300
OFHY S g9l P(HEs)
6,000&*1,5007H 9,000
& 2,700
Al 6,300
OFNEHAFTE AEH A 2tstHl K&
330&*80,0005 26,400
& 7,920
Al 18,480
301 LEtBE= 136,200 122,500 13,700
& 40,860
Al 95,340
14 JIEtE &3 136,200 122,500 13,700
OUYESAIEHIXA
5,000& 11,4005 57,000
& 17,100
Al 39,900
OZ=2 &3 =%
1,100, 000&+6H 122 79,200
L= 23,760
Al 55,440




SA =S
HE: MEASAD|B ZH (SN 5D - SE)
el JIENEY 22 (chel: & 2l)
S - EE - 9I(30) - HIRAI - BES ol &kt ] B2t
402 DI2FX =0 & 12,250 12,250 0
[ 3,675
Al 8,575
02 DIZHGE A E X (01X THL) 12,250 12,250 0
OPMAHANMERAHR| LGS ZADIXIK
350, 0002 *50CH*70% 12,250
[ 3,675
Al 8,575
IIEESY o 558,240 410,074 148,166
101 o124H] 52,950 72,324 A19,374
04 22X EE S 52,950 72,324 A19,374
OE JIEAAY M2l 8% o8
76,96021%1Hx202 1,540
ONBASAIL sFOIR
76,9602 x22 %3342 51,410
201 LB 61,140 52,800 8,340
01 AlR2t2|H 28,340 20,000 8,340
OJ=AAY g =X 6,000
—E8 223 M=
10024%2, 00004+ 105 2,000
—s0 M 50,0002 +80 & 4,000
OTMY - ex4e 28 =X 1,500
—AAIZIA IR 1002*10, 00004 1,000
—HEEs M= 10024%5, 00004 500
ORZZHAO|AL =4 AXE
400,000+ 1+ 12& 4,800
OJERAY AL A2 23|
60,000 *52F=#23] 6,240
OJI=EAY AE 2| ARtz
500,000&4%103] 5,000
OTMS, Al A=A 223 S
8,000 x22*3002 4,800
02 2224 32,800 32,800 0
OTMS WAl B S 22HD|2 Hal
1,50024%1,000kg 1,500
OJi=goloel Algl 282
300,00024% 122 3,600
ONBASAIE 2222
1,500,000 * 12 18,000
OHBASAIE QX224
8,000,000 * 14! 8,000
ONBASAIE S E X2
1,700,0002 %14l 1,700
206 M=l 286,950 198,950 88,000
01 HEH 286,950 198,950 88,000




SA S20|aME
HE: MEZAD|B RE(SEHLSA/ S - 5E)
ool JIEFYY 2F (Etol: 281)
S - ZE - SI(SH) - MIRAR - BES ol &kt ] B2t
SEETEES
1094%3,000,0004+13] 30,000
OTHS Rpgtg A=or=
20,00021%1,000kg* 15 20,000
OXBQIZ20IN} Yo AS0E=
20,00081%1,000kg* 13 20,000
OONI2 DX Y Y XICHIIR ASoHE
20,00024%1,000kg* 15 20,000
ON=ETAY MH2NE 72
100, 0002 *505 5,000
oga=s Fe 5,0002%2,000e 10,000
OIIETAY RpEHgrol Mai3) ol
3,5002*4, 500 15,750
OTH BHAI™SE F=AD| 72
12021%75, 0004 9,000
OA(S0HK) ZAlg FSHIE el
22,00021+5005 11,000
OPRISHAl AEY A 45|
3302%50, 0005 16,500
OOHZ2|FteiX| Y Xietereis sug)X| DTl
M =e 20,0002 *250kg 5,000
OSHX CHRZ wial )
2,80021%7,0005+23] 39,200
OMREH JIZEIZA 8HAI Q|
6521%300, 0004 19,500
OOtZa|Pteixigy goig AR 7
50,00021+400S 20,000
OHX7EM 7& 3,00024%10,0005 30,000
ONEFHAY Al A2 52 ¢
4002*40, 00074 16,000
301 YBrF A= 157,200 86,000 71,200
14 JIEEa2 157,200 86,000 71,200
Os=2 =< 1,100, 000252 * 122 66,000
OJ=ExAY 2A=2 A Haldl
400,000 %255 10,000
OABZMeHZs) HHBEY| X2
18,0003, 0005 54,000
OYLE=I} BLiSAlE HEE HIZ XIZ
800, 0002 %347} 4 27,200
o +E 2 88 3,081,528 1,052,464 2,029,064
2 50
9] 1,218,002
= 386,381
Al 1,401,055
= 75,950
NS4 A 184,000 340,000 156,000
pJ 110,400




2N s2IIBHH
B HASAD|B T (SHHLSM/ 5D - SE)
SRl MAD|B A Y 28 (chel: & 2l)
S - EE - 9I(30) - HIRAI - BES ol &kt ] B2t
= 22,080
Al 51,520
301 LEEHS 184,000 340,000 156,000
p 110,400
= 22,080
Al 51,520
ISIEER= 184,000 340,000 156,000
OstueRaAXIE 184,000,000 %14l 184,000
p 110,400
= 22,080
Al 51,520
(SEEE 42,360 32,890 9,470
= 11,268
Al 31,002
301 LEEHS 6,960 4,930 2,080
= 2,088
Al 4,872
ISEER= 6,960 4,930 2,080
ORARTSE NS
58,0002+ 1205 6,960
= 2,088
Al 4,872
307 21201 14,400 12,960 1,440
= 2,880
Al 11,520
02 ERIBAAIER 14,400 12,960 1,440
OLH=SH(TL0) XA
120, 00024%2007H A#60/ 100 14,400
= 2,880
Al 11,520
402 DI2FRF=01A 21,000 15,000 6,000
= 6,300
Al 14,700
02 S AFEAFS B X (01 &M ) 21,000 15,000 6,000
ORI X
15,000, 00021 1CH+50/ 100 7,500
= 2,250
Al 5,250
ORAGSILX SHEHZI| NS
3,000, 00024 0CH*50/ 100 13,500
= 4,050
Al 9,450
BEEENE 67,500 62,250 5,250
= 20,250




SN SIS
H: NIEAD|P Y (SHHLSA 5 - SE)
el dab|gt 2% 3 82 (chel: & 2l)
S - EE - 9I(30) - HIRAI - BES ol &kt ] B2t
Al 47,250
301 LN 57,000 51,000 6,000
5 17,100
Al 39,900
14 JIEIR A2 57,000 51,000 6,000
OSYIE WA
600, 0008+ 1905+50/ 100 57,000
[ 17,100
Al 39,900
402 BI2FAF=01A 10,500 11,250 AT750
S 3,150
Al 7,350
02 RIZFRHEAIIE Z (ORI THE) 10,500 11,250 AT50
OZ5HAEI X
7,000,000 *3CH+50/ 100 10,500
= 3,150
Al 7,350
(S) SAXHAS 108,500 82,500 26,000
[ 32,550
Al 75,950
402 BI2FAF=01A 108,500 82,500 26,000
[ 32,550
Al 75,950
02 BIZFRHE A E Z (OIFTHE) 108,500 82,500 26,000
O[22 8024%1,800,00074%50/ 100 72,000
[ 21,600
Al 50,400
OSHAZERI
5,000245, 0002 *50/ 100 12,500
S 3,750
Al 8,750
OHBH ST HS R T
16,000, 00024 %3CH*50/ 1002 24,000
S 7,200
Al 16,800
pIEINESIEIEY= 164,700 155,200 9,500
206 24 5,000 5,000 0
01 e 5,000 5,000 0
OzxRes=d(=RY 1Y)
80026, 2507 5,000
301 LBHENZ 32,600 32,600 0
14 JIEIR A2 32,600 32,600
OXS8W |ME ZSAY
1,2008!16,666 M 20,000




SN SIS
HI: MTZAD|E TY(SHLS A/ 5Y - 5E)
oHRlr MADIEE 15 2 =28 (chel: & 2l)
S - EE - 9I(30) - HIRAI - BES ol &kt ] B2t
ONASE ¢ 2 12,600
-S8 8,0008+2005 1,600
-3 2,00094%5,500F 11,000
402 QIZERHE0IA 127,100 117,600 9,500
NN EEE I ED) 127,100 117,600 9,500
OBLAY (Y8 AXZ PU(2ES 50%)
2,30021%30,00074%50/ 100 34,500
OYELEAE XX 50%)
1,00021%151,000kg*50/ 100 75,500
OYES0IRIHY HLES ESHE XA (EXS 50%)
30,00024%14022%50/100 2,100
ODNEZ =2MAE MEAZ(TMR) 2L (BXS 50%)
500, 00024 *60E+50/ 100 15,000
(Z)SETAAS 198,060 145,440 52,620
[ 59,418
Al 138,642
402 QIZIXH=01E 198,060 145,440 52,620
[ 59,418
Al 138,642
02 QIZFRHEARIE X (O RHE) 198,060 145,440 52,620
OYEBHs2
8,0002%16,500kg*50/ 100 66,000
[ 19,800
Al 46,200
OSSN E DX
6,000,0002 *8CH*50/ 100 24,000
[ 7,200
Al 16,800
OEEHESEHIA 400,000 x45%80/ 100 14,400
[ 4,320
Al 10,080
OESBHLI| X
2,500,0002*5CH*50/100 6,250
[ 1,875
Al 4,375
OgsZSaa 30,0002%2,80074*50/100 42,000
[ 12,600
Al 29,400
OYLEHLIIXI
7,000,0002 *8CH*50/ 100 28,000
[ 8,400
Al 19,600
OLERSAILI|XIL
14,0002*1,63074%50/ 100 11,410
[ 3,423




SA: S2|SHEH
M MAUBAD|E AL (SHHYL/ =Y - SE)
SRl MAD|B A Y 28 (chel: & 2l)
S - EE - 9I(30) - HIRAI - BES ol &kt ] B2t
Al 7.987
OESgHsI 80,00024*1507H*50/ 100 6,000
[ 1,800
Al 4,200
(2)EMSHACCPZIEE 16,800 14,000 2.800
p] 9,600
[~ 2,160
Al 5,040
301 LErEA=Z 16,800 14,000 2.800
p] 9,600
[ 2,160
Al 5,040
14 JIEI2 A2 16,800 14,000 2.800
OSALSHACCPA &L E
8,000, 0002 %374 A+70/100 16,800
p] 9,600
[ 2,160
Al 5,040
BEREEEER 22,500 20,000 2,500
[ 6,750
Al 15,750
402 DI2HI=01A 22,500 20,000 2,500
[ 6,750
Al 15,750
02 DI KEAISE(0IA W) 22,500 20,000 2,500
OS0HEEZINEALY
15,000, 0002 *37H A+50/100 22,500
[ 6.750
Al 15,750
(2)SMS0HHIE 47,008 105,984 58,976
p] 20,192
[ 8,045
Al 18,771
301 LErEEZ 47,008 105,984 58,976
p] 20,192
[ 8,045
Al 18,771
14 JIEI2 A2 47,008 105,984 58,976
OSSO (25 D)
320,00024%20724%70/100 46,368
p] 19,872
[ 7,949
Al 18,547




A sSII=dH
Do GEBA|B RN (SUHL S/ B - BE)
el dab|gt 2% 3 82 (chel: & 2l)
S - EE - 9I(30) - HIRAI - BES ol &kt ] B2t
OSHMSOHIE (At2l=S) MES0)
320,000 x24H 640
J| 320
& 9%
Al 224
(D)FLH20E ICT 858 XA 1,795,000 0 1,795,000
Il 1,077,000
= 215,400
Al 502,600
402 QIZEXHE20|1 A 1,795,000 0 1,795,000
| 1,077,000
& 215,400
Al 502,600
02 QI A E X (01X THE) 1,795,000 0 1,795,000
OBMEZ0F ICT B28 2ot K&
3,590,000,000&*50/100 1,795,000
| 1,077,000
& 215,400
Al 502,600
(Z) ==L TS RIX 103,200 87,000 16,200
& 8,175
Al 19,075
= 75,950
402 2IRHX=01N 103,200 87,000 16,200
& 8,175
Al 19,075
= 75,950
02 QIZFXHE2 AT E X (OIFTHA) 103,200 87,000 16,200
OFAEDINE(S2D]) X
300,000 & *400CH*50/100 60,000
& 3,375
Al 7,875
= 48,750
OLHIERAIE XA
8,640,000&*10JH-+50/100 43,200
& 4,800
Al 11,200
= 27,200
(R)SAAISorE e | =X H A 100 200 A100
= 50
& 15
Al 35
301 LEtE2E= 100 200 A100
= 50




A sSII=dH
Do GEBA|B RN (SUHL S/ B - BE)
CHP: MAD|PE IE Y B of: x2l)
S - B - o) HISAY - BA = ol &kt ] B2t
& 15
Al 35
14 JIEIE43 100 200 A100
SELEIELY eosg X2
50,000@4*2 100
= 50
& 15
Al 35
(D) LLHEIXIZHIXIR A 1,800 0 1,800
| 900
& 270
Al 630
402 IEAHE01 M 1,800 0 1,800
| 900
< 270
Al 630
02 QIZtXE AL HTR) 1,800 0 1,800
OZHEIXI &
100,000:&*30CH*60/100 1,800
Il 900
= 270
Al 630
IMERS HEARS 330,000 0 330,000
301 LBtE&Z3 30,000 30,000
14 JIEtE2 43 30,000 30,000
Osssi AIZg2XHSTHXIR
400,000275ha 30,000
402 QI2EAFE01M 300,000 0 300,000
01 QIZFRHE2 A 22 (REMITHR ) 300,000 0 300,000
OANBE S SHIXIZ (Ex2 50%)
300,000, 0002 *2 M E*50/100 300,000
e 4 54 1,746,300 1,531,000 215,300
J| 10,000
& 142,440
Al 1,593,860
() EISHESAKIZ AL 9,800 0 9,800
= 2,940
Al 6,860
301 LBtEdZ3 9,800 0 9,800
& 2,940
Al 6,860
14 JIEtE 43 9,800 0 9,800
Oz SIS UISHIXZ
700,000 %207 2%70% 9,800




A sSII=dH
T GNEDIE EH(SEHLS S - 5E)
Che: RIBZ =4S4 (ch9l: %i21)
S - ZE - SI(SH) - MIRAR - BES ol &kt ] B2t
& 2,940
Al 6,860
e S 1,261,500 1,091,500 170,000
206 =4l 20,000 0 20,000
01 JHZHl 20,000 0 20,000
O0lME A= X 2
10,0002%2,000 £ 20,000
301 LBtE&Z 300,000 400,000 A100,000
14 J|Et2 43 300,000 400,000 A100,000
OXMA &R 21T HIR X2
3002%1,000,000% 300,000
402 I2EAHE01 M 941,500 691,500 250,000
01 QIZFRHE2 A S & (REMITHE ) 941,500 691,500 250,000
OFAEHE N XA (BE2 50%)
35,000 *22,800%E+50/ 100 399,000
O=GY HAZSIH P (EZE 50%)
15,0002*15,000Z%£+50/ 100 112,500
OF4tsI S XAML(EXZ 50%)
8,000&107,500X£+50/ 100 430,000
(Z)MRet=A2EX A 360,000 300,000 60,000
L= 108,000
Al 252,000
402 I2EXHE01M 360,000 300,000 60,000
= 108,000
Al 252,000
02 QIR 2AIAE R (01X ) 360,000 300,000 60,000
OF20EHT USAIAHAE XA
180,000, 0002 *441x50/ 100 360,000
& 108,000
Al 252,000
(=) €l MY & Y| 20,000 20,000 0
| 10,000
& 3,000
Al 7,000
301 LetEE= 20,000 20,000 0
Il 10,000
& 3,000
Al 7,000
14 J|Et2 43 20,000 20,000 0
OFE|HY| AL ZH| X 200, 0002/ *100ha 20,000
| 10,000
& 3,000
Al 7,000
() DEZAH|MAAE XS 45,000 40,000 5,000




A sSII=dH
Do GEBM|H R (SUHL S/ 5 - BE)
ohelr JEd S 54 (CHo: X 2l)
S - ZE - SI(SH) - MIRAR - BES ol &kt ] B2t
& 13,500
Al 31,500
402 QIZEXHE0|1 A 45,000 40,000 5,000
& 13,500
Al 31,500
02 L= AT 2 (01aM ) 45,000 40,000 5,000
ont=2LHP IOV ETEREES )
20,000 *3,000£+50/100 30,000
& 9,000
Al 21,000
ODBH LI LA TI(0I D))
4,000,000 *2J1 2+50/100 4,000
& 1,200
Al 2,800
O EEHH|MAAI LXK (EIHIR=D])
11,000, 00024 +2CH*50/ 100 11,000
& 3,300
Al 7,700
(Z)EAMAFMZAIEXIA 30,000 64,500 A34,500
L= 9,000
Al 21,000
402 I2EXHE0(1 M 30,000 64,500 234,500
& 9,000
Al 21,000
02 QIZFXHE2AIH S (OIETHE) 30,000 64,500 A34,500
OSMAFAMZAIEXA (IESE24HlD])
12,000, 0002 %5CH*50/100 30,000
L= 9,000
Al 21,000
(Z)REBAF ML (LSt 20,000 15,000 5,000
& 6,000
Al 14,000
402 QIZEXHE0| A 20,000 15,000 5,000
& 6,000
Al 14,000
02 QI A E X (01X THE) 20,000 15,000 5,000
OZEZAF ML MXIJ (LBtsIt)
20,000 *2,000%£+50/100 20,000
= 6,000
Al 14,000
== 23 306,280 167,052 139,228
= 16,500
L= 33,474
Al 256,306




A s |SHIE
o MTFAD|E ZY (SRS 5L - 55)
o 52 B35 (cre| xel)
S - ZE - SI(SH) - MIRAR - BES ol &kt ] B2t
RIs2 252l 178,200 62,292 115,908
201 L2y 17,200 10,800 6,400
01 AF22t2IH] 7,600 5,400 2,200
OSESESHEH A=X2l FHILX2
800,000& %23 1,600
OSSEsHH 840t H=
50,0002 *800H 4,000
OLIISE HIHES HME 2
2,0002%1,0000H 2,000
02 BS2GH 9,600 5,400 4,200
OSSE3HH B223(AII, 5 S)
400,00024*120H 4,800
OSEEsHH |XE4H|
400,000+ 1204 4,800
206 M=l 5,000 3,000 2,000
01 THZ2H 5,000 3,000 2,000
OSSESHH %4E 2|
20,0002*2505 5,000
301 LEHEES 20,000 7,500 12,500
14 JIEt2 A2 20,000 7,500 12,500
OsJlss Xzl 50,0002 *4005 20,000
307 CI2H0IA 36,000 30,000 6,000
05 CItSIES 36,000 30,000 6,000
OSEEsHH 2229
3,000,000 * 122 36,000
401 Al&H| L2 0HY] 100,000 0 100,000
01 AlZH] 100,000 0 100,000
OSSEsHH 24 ZAH]
100,000,000 214! 100,000
(D)RIISSLSHEH X 49,080 45,760 3,320
[ 14,724
Al 34,356
206 THEH 24,000 24,000 0
< 7,200
Al 16,800
01 THEH 24,000 24,000 0
ORIISSESHHSL X
24,000,000 % 14! 24,000
[ 7,200
Al 16,800
301 YLHENZ 25,080 21,760 3,320
[ 7,524
Al 17,556
14 JIEt2 A2 25,080 21,760 3,320




A sSII=dH
T GNEADIE EH(SEHLS S - 5E)
e s= =8 (Crel:mel)
S - ZE - SI(SH) - MIRAR - BES ol &kt ] B2t
OS==R a0 Zaaa(=Z5o0)
23,080,000 14! 23,080
& 6,924
Al 16, 156
Oltgi=s=sEXNA 40,0004%505 2,000
& 600
Al 1,400
()RARIISSAZESH N 7,000 7,000 0
= 2,100
= 1,470
Al 3,430
301 LBIEEF 7,000 7,000 0
= 2,100
& 1,470
Al 3,430
14 J|Et2 432 7,000 7,000 0
SAUARIISSAZEBSHI(XIZHI)
70,0002x1005 7,000
= 2,100
& 1,470
Al 3,430
(2)ZDL0I54st+==H| XA 32,000 32,000 0
= 6,400
& 7,680
Al 17,920
301 LEtBE= 32,000 32,000 0
= 6,400
& 7,680
Al 17,920
14 J|Et2 43 32,000 32,000 0
OZ 120154 st+=HIX&A
200,000& 1605 32,000
= 6,400
& 7,680
Al 17,920
(R)AAMNEHAS L= 40,000 20,000 20,000
= 8,000
& 9,600
Al 22,400
301 LEtB &= 40,000 20,000 20,000
= 8,000
L= 9,600
Al 22,400
14 JIEIE 4= 40,000 20,000 20,000




2 s2)|s4H
I HAFAD|E ZY(SEHLSN/ S - SE)
H°Hel: s B3 CEEEED
S - ZE - SI(SH) - MIRAR - BES ol &kt ] B2t
OARINSAS oI F2X
400,000 %1005 40,000
= 8,000
[ 9,600
Al 22,400
LH=Q MAD|BE R (S FHL A - O E) 2,520 2,520 0
[ 756
Al 1,764
4ot 83 x4 2,520 2,520 0
[ 756
Al 1,764
BEEEREE] 2,520 2,520 0
[ 756
Al 1,764
402 QI2FXHE0| & 2,520 2,520 0
[ 756
Al 1,764
02 QI RFE A E X (01 M THL) 2,520 2,520 0
OQAIZD | RHZ2
3,600,000 % 174 A*70/100 2,520
[ 756
Al 1,764
ZATNE A (sEHLSA/ S - 55) 433,320 423,000 10,320
= 162,800
Al 270,520
ENSIEE] 433,320 423,000 10,320
= 162,800
Al 270,520
ENSIEE] 107,720 57,400 50,320
201 L2 S 4,920 4,300 620
01 AF22t2IHI 4,920 4,300 620
Ons 28 SUHA
60,0002 %51 300
OJ=2(8Hl) 255 18 3,100
— WM M 7,000& %3005 2,100
—E22 BES Ry 2,50024*4005 1,000
O=M 218 800
—WSu HE 10,0002 408 400
—us2d 28 ¢ 10,0002 %40 400
O=g= 1 200,000 2 400
ORHSE I SALAR
80,0002 %42 320
206 M=l 46,000 29,600 16,400
01 M2HI 46,000 29,600 16,400




2A =024
HE: FBAXC A (SEHLSA 5 - 55)
S S| 22 (crel: M)
S - EE - 9I(30) - HIRAI - BES ol &kt ] B2t
Ogte HaEgal e 30,000*800S 24,000
Ot AT JE 11,0002 %2,000S 22,000
207 SN 7,500 0 7,500
03 A& &I HI 7,500 0 7,500
OJI=2(8Hl) B =7 ASAE
1,500,000 *57H A 7,500
301 YB3 28,300 23,500 4,800
14 J|EIEAS 28,300 19,900 8,400
O H2US 2AeY 5,800
—Jiz 250, 00024+ 1A12tx103] 2,500
—=u 120,000 %2A1 2+ 103 2,400
—0il 90,0002+ 12%103] 900
OXRI|YplFICtS 28t HEH|
18,0002 1,2505 22,500
402 QIZHRH=0[H 21,000 0 21,000
01 DIZIXHZ AR E X (XA THE) 21,000 0 21,000
ODNEZ Y| MAD|E AIHAI(2XS 50%)
6,000,000 *37H A*50% 9,000
OD|MS LSAI2 HMZE 0/27|2 8 AlHAY
(X8 50%)
24,000, 0002 * 17H A*50% 12,000
(R)sLD SN (SMERDS3D|2) 20,000 30,000 10,000
= 10,000
Al 10,000
405 KHAHE SH 20,000 0 20,000
= 10,000
Al 10,000
01 XL SEF SH 20,000 0 20,000
OMADIEE 855 =X)|0 A M2 A2 AlY
20,000,000 * 14! 20,000
= 10,000
Al 10,000
(R)sLADBAIS (SAHMAD ) 80,000 0 80,000
= 40,000
Al 40,000
402 QIFXHE0| & 80,000 0 80,000
= 40,000
Al 40,000
02 QI RHE A E R (0| M) 80,000 0 80,000
OSAL Ol HIEH L =9 HiD|BH &X| Al
20,000,000 %37 A 60,000
= 30,000
Al 30,000




A sSII=dH
T BANE A (SRHSLN/ Y - 5E)
Hel Sls 22 (CHol: &)
S - EE - 9I(30) - HIRAI - BES ol &kt ] B2t
O4 HOlA! 2H0I2EHE X AME B
2,500, 000& *8oH A~ 20,000
= 10,000
Al 10,000
(s I=AIE (SA0IHEEI|=) 180,000 60,000 120,000
= 90,000
Al 90,000
402 BIZHRHE0| ™ 180,000 60,000 120,000
= 90,000
Al 90,000
02 DIIRE A EE (01T M) 180,000 60,000 120,000
OBI=E 2RER| 23 AlY
180,000, 000&* 170 2~ 180,000
= 90,000
Al 90,000
(2)EERE 255 53 35,600 35,600 0
= 17,800
Al 17,800
101 eI244| 24,200 23,650 550
= 12,100
Al 12,100
04 J1ZtNI2 2R SE+ 24,200 23,650 550
ONER 255 A 29 BX
2,200,0002 1+ 110 & 24,200
= 12,100
Al 12,100
206 =4I 8,600 11,950 23,350
= 4,300
Al 4,300
01 W=l 8,600 11,950 13,350
OJlER 225 B J|E 79
5,000,000 14! 5,000
= 2,500
Al 2,500
OJtEE d42dAM8 A8 7Y
3,600,000 * 14 3,600
= 1,800
Al 1,800
405 At S| 2,800 0 2,800
= 1,400
Al 1,400
01 AL EEFSHI 2,800 0 2,800
OII=EE 42ZAE o222 JtAsS 1Y
2,800,000 * 1K 2,800




2 s2)|s4H
HIM: BMIC AL (SHSSA SY - sE)
gel: Si|=s B (Crel: &)
S - EE - 9I(30) - HIRAI - BES ol &kt ] B2t
= 1,400
Al 1,400
BEEEEETPEENEIEN) 10,000 10,000 0
= 5,000
Al 5,000
206 M=l 10,000 10,000 0
= 5,000
Al 5,000
01 XHEHl 10,000 10,000 0
OZSBZAZRIA ARH THE P
10,000,000 * 14! 10,000
= 5,000
Al 5,000
HE2AHH|(SAH) (JIEH/IIEH 102,805 87.877 14,928
REEET 14,905 11,249 3,656
REEEE] 14,905 11,249 3,656
101 o1A4] 14,905 11,249 3,656
02 JIEHE B4 14,905 11,249 3,656
O2ZLALIAL A4
9,736« 1Z*30AI2tx 122 3,505
OZEYALA LAES FHRi2
900,000 %1 H 122 10,800
O2FYALA ABARLS
50,0004 1122 600
DIEELE] 87,900 76,628 11,272
DI 87,900 76,628 11,272
201 LB 21,540 18,183 3,352
01 AF222IHI 21,540 18,188 3,352
O=AEX 2 20,0002 * 152 A %122 3,600
OE204AH| 8,000 *6A1x 152 %122 8,640
Otz 100,000 %122 1,200
OARE EAFAHI 50,0002 %122 600
OARGE 24| 6,600
—SAPD| =2 500,000 %1CH 500
—IRIE 22| 100, 0002 *4CH*50/100 200
—SADI EH 200,000 53] *1CH 1,000
—IORIE EH(S9)
200,000 %53 *4CH 4,000
—PC =2 100, 0002 * 15CH*20/ 100 300
—JIEMEH| #=2ld] 50,000 122 600
OJIEH AfR2 21| 5,00024*15%* 122 900
202 O] 63,360 55,440 7,920
01 20| 63,360 55,440 7,920




2A:

=PIl

M HYSHAH|(SA) (JIEHIIEH
thel: D23 (Crel: &)
S - EE - 9I(30) - HIRAI - BES ol &kt ] B2t
OF4AH ARFX 0f] 59,400
— 204l 20,0002 15122 x 122 43,200
— 249|044 90,0002 %158+ 122 16,200
O2EL2A49|AL O4H 3,960
— 204l 20,0002 *1H* 12U *12& 2,880
— 22| 04| 90,000 %1 %12 1,080
203 22| 3,000 3,000 0
04 ENSHUDEAIH 3,000 3,000
ORNSYARZZIY|(F4H)
250,00024% 122 3,000
SRS A NTA (SEHLS N/ S - S&) 5,061,367 3,953,605 1,107,762
= 507,650
[ 605,552
Al 3,948,165
S8X0 =AXE J|BHEY 364,967 264,401 100,566
= 33,250
[ 12,200
Al 319,517
SEXCHA ALY 74,59 18,230 56,362
101 Q124H] 16, 162 0 16,162
M IIR22EES 16, 162 0 16,162
OB SI|SEHT NHIAUSIAIY 012!
76,9602 % 1Hx210L 16,162
201 L2 A 16,030 16,030
01 AFR2t2IHI 7,280 7,280 0
OSEXTAIY E8EIIE S5
60,0002 %3H 180
OSZEXTAIY SEEIIE SHERIZ
100,0002% 105 1,000
SEXTAIY AHEA S0
10,0002/ % 1005 1,000
OSEXTAIY B DA K0!
10,0002/ % 1005 1,000
OSEXCTAIY E8HEItE i M
10,0002 %1005 1,000
OSEXCAIEE LAIK0l
1002%1,0000H*5% 500
Os=X & 834 200,0002 %23 400
onsz 222E 7Y
10,0002 *55+ 12 600
OU=E s NS2 H4)| A 22
25,0002 % 122 x4CH 1,200
OSEXCAIY S&HEIF 2 HOILE 2
2,0002%2005 400
02 2229 8,750 8,750 0




2 s2)|s4H
MM SHAM A XA (SHSSA/ s - SE)
ol 2880 sYA T JIEtAY (CHl: X 21)
S - ZE - SI(SH) - MIRAR - BES ol &kt ] B2t
OU=2A =go s 29 8,750
—NE DRI KX
125,0002+8% 1,000
—Z0HOI2 ARIHI0IE RXIZ2IH
150,000 * 12 1,800
—ZHOHOI2 ARIHIOIE! FIIZA
150,000 %13 150
—Z0HOIR RIHIOIH RE42
50,0002 %205 1,000
—[I2X SRINK2 Mot 2 4,800
OIEY! AFR2(403141)
150,000 * 12 1,800
HALEH =& 30,000 +40CH 1,200
HAMNFE S22
150,000 12 1,800
301 LEEAS 2,400 2,200 200
11 BALAHIXIS 1,600 1,400 200
OSEXTAILEIIE &K S48 X
8,000 *200 1,600
14 J|EI2 A3 800 800 0
SEXTAIY SEEIIE ALY 800
—Jl2& 150,000 % 1 Al2H23] 300
—El= 80,0002 %2A|2H23] 320
—04d| 90,000 * 1223 180
401 AlEH 22 20,000 0 20,000
01 Al&H] 20,000 0 20,000
OUSXSHoI IS SIEA HIE $4 FH|
20,000,000 * 14! 20,000
405 KHAHE SH 20,000 0 20,000
01 XL SEF SH 20,000 20,000
OU=x=do NS MXtnE Wi
5,000, 0002 %4 N 20,000
S0l AL XIRXA 29 98,777 83,213 15,564
101 Q124H 27,706 26,381 1,325
M IIRIR22ISEES 27,706 26,381 1,325
OXIRRA 29 JI2tH 22X ol
76,9602 %32 120! 27,706
201 L2 A 19,071 14,832 4,239
01 AF22t2IHI 1,920 1,920 0
OXIPXIx D 2ER
35,0002 %122 x 101 A 420
OXIRRA Z2I2E 1Y
10,0002 %55+ 103]x3H A 1,500
02 2229 17,151 12,912 4,239
@INEYNENE=2 =5 (== IN]:] 7,500




2 s2)|s4H
MM SHAM A XA (SHSSA/ s - SE)
ol 2880 sYA T JIEtAY (CHl: X 21)
S - ZE - SI(SH) - MIRAR - BES ol &kt ] B2t
—96R5081(AESE, HR)
2,500,000 1CH 2,500
—97H6511(A B2, EV)
2,500,000+ 1CH 2,500
—71D15547( A B S8, HR)
2,500,000+ 1CH 2,500
Oty 1,33021%960 £ *3H A 3,831
O2= RAlY| 500,000 %371 A 1,500
OZEXX S|
120,00024*3H A% 122 4,320
401 ANEBI 220 10,000 0 10,000
01 Al&H] 10,000 10,000
OXI R4 e A
10,000,000 % 14! 10,000
402 QIZHRF=0[H 42,000 42,000 0
01 QI N2 A E X (KHHITHS ) 42,000 42,000 0
OM2t BHHIM2| 2812 S0 AT Al (ZS2XITRXIA)
(BXE 70%)
3,000, 0002 *57H A*70/100 10,500
O 01ADIZE TS OlMIAS S22 AMY
(BRXNAXLA)(2ES 70%)
5,000, 0002 *37H A*70/100 10,500
OMAS =2 FMi2l T 2 MEsE T
(E2XNRXA)(EZS 70%)
10,000, 0002 %324 A*70/100 21,000
LAs |4 A 21,000 21,000 0
402 QIZHRHE0[E 21,000 21,000
01 SIZFRHE A E R (XHRITHS ) 21,000 21,000 0
OLrs 24 XLAL(BEE 70%)
10,000, 00024 x374 A*70/100 21,000
B EpES L] 49,010 40,520 8,490
201 L2 S 13,610 13,640 A30
01 AF22t2IHI 9,290 9,290 0
OSZEXTAIY 222 518 M
100,0002%5% 500
OsAIeX U2 25 M
200:21*3,5000H 700
SEXNCBRY A2YE A 7Y
20,0002 %505 1,000
OJ|&2E XMEMAIZ SZDT M 1,100
—AFRI & oM} 150,000 %2 % 300
— W PHIE 200,000 %4 800
OZ2E AIX M= 30,0002 *105+13] 300
OFF=AUUA(YO!, HE, HA) Mo 24
70,0004+ 15% 1,050
OSFSAUA(HO!, HE, HA) Al
1,000,0002x3% 3,000




2 s2)|s4H
MM SHAM A XA (SHSSA/ s - SE)
ol 2880 sYA T JIEtAY (CHl: X 21)
S - ZE - SI(SH) - MIRAR - BES ol &kt ] B2t
O=glol QIZ201 ¢ N= 1,640
—DSDIM M= 15,000 &30 2+ H 900
—NKE 52 HMH
60,0002 *2IH*2 4 & 240
—23=3 50,0002 *5IH*2 4 & 500
02 2Z29H| 4,320 4,350 A30
Os2)|&X ¢ 2E2
55024 %200+ 12 1,320
OXEZEH 29 3,000
—S234l 100,000 *10& 1,000
— &3 500, 000 *4CH 2,000
206 XHEH] 1,000 1,000 0
LD 1,000 1,000
Osd0l 0IZ201M ANDS W2
100,000 %105 1,000
301 YB3 10,400 9,880 520
14 JIEI2AS 10,400 9,880 520
Osol AZRNAAL ST ALY 10,400
—Jlz= 150,000+ 1 Al2H133]«2 0t & 3,900
—Ei= 80,0002 *2A[ 2+ 135 x2 4 & 4,160
— 0l 90,00021% 135 204 2,340
402 QIZHRH=0[E 24,000 16,000 8,000
01 SIZF A E R (XHRITHS ) 24,000 16,000 8,000
OZFsUUY STt HEUNSE L Al XA
(XS 80%)
10,000,000 x37H A+80/ 100 24,000
=HAYHES} Al 38,088 27,338 10,750
201 2B A H] 13,588 3,588 10,000
01 AF222IHI 1,500 1,500 0
O=gel AENS DWAME @ 2
10,0002 % 1505 1,500
02 2229H| 2,088 2,088 0
OQIEY HE AIAE S| 2t2|H 2,088
—gMHIA 0122 25,0002 *6LH* 122 1,800
—280IE= 4,00024+60* 122 288
03 AL | 10,000 0 10,000
OeHIXILIA HRLIHO0IE WE(ASDK)
2,000,0002/ %53 10,000
301 LEEAS 11,900 11,150 750
11 #AFAIHIXI2I2 3,900 3,150 750
OYFABL5t=0l RIS Ha
90,0008%302*13] 2,700
O=gel Agns 24l
8,000 %302 53 1,200
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OF2 A=Yl J|=ws niY
10,0004 +50 220t & 1,000
Ous % 28 80 H=
60,0002 *3H* 124 A 180
o2 of NS 2YSE
10,0002 % 1007H*1 2+ & 1,000
206 &l 2,000 2,000
L 2,000 2,000 0
oxe o =02 W2
100,000 %205 2,000
301 YEEXZ 11,600 8,200 3,400
11 A 3,600 3,600 0
=20 , CEel NSEA ot
90,00024*202*23] 3,600
14 J|EtE 8,000 4,600 3,400
oxe of =N ALY 8,000




2 s2)|s4H
MM SHAM A XA (SHSSA/ s - SE)
el SE HEEs HEAY (Crel: &)
S - B B (BIH) - HISAKY - BAS ofl Ao ] HIS2
—Jl2s 150,000+ 1AIZH 1032t & 3,000
—Z= 80,0002 *2A[2bx 103 x2 4 H 3,200
— 01| 90,00021%203] 1,800
=EXE 228t = 54,000 62,000 8,000
207 SIRIH 19,000 0 19,000
01 HR2H| 19,000 0 19,000
OsAIE DR W DS
19,000,000 % 14! 19,000
307 2I2+0|& 35,000 21,000 14,000
02 QIIAAAIIE R 35,000 21,000 14,000
OSEMSZ AZ WY AH(BXS 70%)
10,000, 0002 *2H A+70/ 100 14,000
OR4SAIZ HAUM BUC N L MR X
(EXE 70%)
3,000,00024* 1074 270/ 100 21,000
SAZIBUSY 29 20,084 14,617 5,467
101 Q124H 14,623 9,527 5,096
M IIZR2E2NEES 14,623 9,527 5,096
SAIE JIZ NSE 29 o2
76,9602 %1190 14,623
201 L2 A 5,461 5,090 371
01 AF222IHI 3,000 3,000 0
OLS2 2 I 2
500,000/ +6% 3,000
02 2229H| 2,461 2,090 371
ONKE 29 LHEH|(AUER)
1,3302%700 £ 931
O ALPG(UBHERIIA) 5,3002%100m" 530
OJIHZH S| 200, 000R+5% 1,000
(B)E=e gHEE orMae| AFMAY 50,000 0 50,000
= 25,000
Al 25,000
402 QIZHRHE0[E 50,000 0 50,000
= 25,000
Al 25,000
02 IZFRFE A E R (0| M TS ) 50,000 0 50,000
OX=Y HEE oHNR| AXAIH
50,000,000 %172 50,000
= 25,000
Al 25,000
()2 & 0|2 BB JI2LS 3,000 3,000 0
= 1,500
[ 750
Al 750




A sIIsdH
M SoNE B4 NCNY(SEHYLL/SY - 5E)
ol & YEIES HEAY (EERSED)
SA - A SR(B) - AIRAI - BAS o vy ] bl D2
201 =] 3,000 3,000 0
= 1,500
= 750
Al 750
03 A2 EH| 3,000 3,000 0
OUirst @2in 22 DS
3,000,000&*14] 3,000
= 1,500
s 750
Al 750
(=)=l sst Ws2d X (MEXIEZR 7,000 0 7,000
= 3,500
= 1,750
Al 1,750
201 82| 7,000 0 7,000
= 3,500
= 1,750
Al 1,750
03 A2 EH| 7,000 0 7,000
OMETT T SE0MRIH) 24 D] N
7,000,000 %14l 7,000
= 3,500
S 1,750
Al 1,750
(E)=sEXE SOOI &4 10,000 175,000 A165,000
= 3,000
Al 7,000
307 e1zZto| ™ 10,000 0 10,000
= 3,000
Al 7,000
02 QIHEHAIFE X 10,000 0 10,000
O=Rcle & sS21e o433 g
10,000, 0003 *14] 10,000
= 3,000
Al 7,000
(E)HE =20l st 36,900 36,900 0
= 11,070
Al 25,830
201 ZeH=Eh| 10,000 10,000 0
= 3,000
Al 7,000
03 A2 EH| 10,000 10,000 0
Os&0d €iicldE d2)ls u=x
10,000,000 * 14! 10,000




S S|
M SN S KTAY(SHHLLA/ 5D - 52)
CHl: S& ME25 A (chsl: =21
S - ZE - SI(SH) - MIRAR - BES ol &kt ] B2t
= 3,000
Al 7,000
301 eI A= 21,900 21,900 0
[ 6,570
Al 15,330
14 J|EfR A2 21,900 21,900 0
OMEDIMSIR M2R3E X
60,0002 %3652 21,900
= 6,570
Al 15,330
307 CIZH0IA 5,000 5,000 0
= 1,500
Al 3,500
02 QIIFAAIIEE 5,000 5,000 0
O#i=st =ZIHE |4 D2ME(BXES 100%)
5,000,0002* 14! 5,000
[ 1,500
Al 3,500
=D HE JIBES 3,162,951 2,274,794 888, 157
2 323,100
= 402, 150
Al 2,437,701
SO th&el A 1,649,351 539,394 1,109,957
101 2121H] 68,804 65,514 3,290
04 JRIM2EXEE 68,804 65,514 3,290
OsII1H 2thel At 68,804
—SI|H H2EE
76,9602+ 1 2*240 2 x37H A 55,412
—F=5rd 76,9602 % 1 H#482 %3IH A 11,083
—AXRBEINSY
76,9602 %1 Z* 102 #3044 2,309
201 LBt2H| 339,707 204,440 135,267
01 AtR2elt] 16,200 10,800 5,400
OsJ1H221e 1= 2 4,500
—Hg= 100,0002 %330 A 900
— =i} 100,000 *3%*3JH 4 900
—AM OFF 2E o
300, 0002 x3*30H A 2,700
O3 o& JI0IE HIZ
15,00024%200% 3,000
OsJ|HHE HIA 12,00024%200CH 2,400
OsIIHAUAIE peIg2E 7Y
2500021455+ 122+ 124 1,500
OSIIHLUAIIE H2D| RXI22|
35,00021% 122+32 A 1,260




A s2)|SHIE
HE: SiAT B N TAIY (SHYSA/ 5L - 5E)
&2l sJIAsH D18t A (chel: & 2l)
S - ZE - SI(SH) - MIRAR - BES ol &kt ] B2t
O A AIS A ®@AFEH] SAZe] 3,540
—SADI(AE) 22l
500,00024+1TH*32 A 1,500
—=AD| El
200, 0002433]* 1 L *32 A 1,800
—PC =cl 100, 0002 *4CH*3= A%20/100 240
02 2229 323,507 193,640 129,867
SOIHUUAIE R FDR2 (LA 222A4)
4500002 * 122224 10,800
OsIIHLUHAIIE LOIHH|(GREA, 2224)
150, 0002 * 122+ 22 A 3,600
OsIIHLUHAIE A SIEEQ3(HEEL,
2224) 15,000 &+ 12«22 A 360
OsIIHLUHAIE QIEUHRS(2A)
33,0002+ 122124 3%
ORNSE 1A |24 1,865
—38% 1,81021%500 £ 905
—3ge 1,92024%500 £ 960
S NSE U2 =R
1,33021%300 £ *30H A 1,197
ORSE S |l 2,500
—Ae7| 500, 00021+ 1CH 500
—LOIRIED| 500, 00024+ 1CH 500
—&3=D| 500, 0002 %1 CH 500
—Z2AD} 500,000+ 1CH 500
— S50 500,00024*1CH 500
OUAUE =I1H SXZ2HI(2A, 4224,
S224) 195,700
—AB(SAFMA)| Q| 155)
300,000 %239CH+13] 71,700
—SH(=FYZT4I| 2 45)
400,0002/%210C* 18] 84,000
—HE(E2E 9 25)
500, 0002 *80CH*13] 40,000
OsIIH U BERZH| 22/ 4,200
—XIHIRt 700,00024+1TH*3H 4 2,100
— A=Y 0l
700,00024+1CHx34 2 2,100
OUME =J1 Z2le sxzel| 9,000
—B2ZPRA(ABSIZ AR) [=24]
3,000,000+ 1CH 3,000
—95-8601(A B2, FR) [FR2E4]
3,000,000+ 1CH 3,000
—0C0327(ABS2,2R) [28224]
3,000,000 1CH 3,000
oL, NeE =N B8a
20,000,0002*13]%304 A 60,000




SH: S
HE: SOAW BN KTA(SHYSM/SY - SE)

ool mep s olwEs (191 2121)
SN - B SR(3H) - MBAR - BYS ofl Ao ] HIS2
O MADNKE si2e ARIHI0IH SAI2IH
4,550
—SXI2e| 200,000 * 122 2,400
—FJ|AA 150,000 %13] 150
—23=x2| 100, 0002%20= 2,000
SOHZeZ2 02 (A0, PE2) MW A2
150,000 x2E+ 122 3,600
SOIHUUHAIY 24 AR HE S
5,000,000 * 14! 5,000
O HAAIY HREA AILE HE R
5,000,000 * 14! 5,000
OsIIHUAIY E224 AILE AS S|
5,000, 0002 % 14! 5,000
OSIIHACHAIS A Bt A=H| 10,739
—SI|HLUHAIS R FR2EA
633 * 1402 %522 4,609
—SI|IHUAUAIE R 2224
842 x 1402 %527 6,130
206 MH=H] 24,000 16,000 8,000
01 M2HI 24,000 16,000 8,000
OUUSIIH 428 27 L ADE g 24,000
—FR4 23 30,0004 %500H 15,000
—27 U ARE 30,00024%300H 9,000
301 UBtE A2 4,840 4,640 200
TENEREE 4,840 4,640 200
Os2I|H J1selzs 1S o
90,0002 «62*63] 3,240
O=I|H oMNs AR 24l
,0002 % 100+t & 1,600
405 KHAHE EH 1,212,000 248,800 963,200
01 RALEEF S| 1,212,000 248,800 963,200
Ong 2 AU S45I1H 7 1,212,000
— =S EE(400H)
23,000, 0002 * 10CH 230,000
— =S EE(250H)
13,000,000 *6CH 78,000
—Z2EHHI01E (400122
4,000,000 % 10CH 40,000
— ZEHHI0IEf (2501H) 3,000, 0002 *6CH 18,000
—=&=4| 30,000,000 *6CH 180,000
—E|HIA D[ (X34
25,000, 0002 *6CH 150,000
—EIHIAED|(AQIAL)
12,000,000 *9CH 108,000
—=5F8247] 5,000,000 15CH 75,000




BA: sA)|=sHEH
HE: SiAT B N TAIY (SHYSA/ 5L - 5E)
ol sZIIAHE DIt Y (CHl: X 21)
S - EE - 9I(30) - HIRAI - BES ol &kt ] B2t
D]
7,000,000 *4CH 28,000
—ZOLRITHA D] 13,000, 0002 *6CH 78,000
—SEM=EI| 13,000, 000 *6CH 78,000
—223)|(XF4) 15,000,000 +9CH 135,000
— A2 2,000,000 %3CH 6,000
—ZED|(EY=EHLIIZNE)
4,000,000 x2CH 8,000
=&Y Ol A 50,000 0 50,000
301 LBIE A= 50,000 50,000
14 JEI2 A= 50,000 0 50,000
OsZY et 2a2 50,000,000 *1 Al 50,000
(2)FAXL2OHE SIIH X 400,000 600,000 A200,000
= 200,000
[ 100,000
Al 100,000
405 XHAHE S 400,000 600,000 200,000
= 200,000
[ 100,000
Al 100,000
01 LS EF S| 400,000 600,000 A200,000
OZFMXIL B HE AHSIIH 2L
200,000, 0002 %2 2 400,000
= 200,000
[ 100,000
Al 100,000
SIS 200,000 200,000 0
= 100,000
[ 50,000
Al 50,000
405 XHAHE EH 200,000 200,000 0
= 100,000
[ 50,000
Al 50,000
01 AL SEF SH] 200,000 200,000 0
OLE=J|H hHl LCHsIIH 2
200,000,000 * 14! 200,000
= 100,000
[ 50,000
Al 50,000
(R)SIIHEINEI 2= 9,000 8,000 1,000
= 3,600
[ 1,620
Al 3,780




2A:

=PIl

I mOIAMS BAL K| CAIY (SRS 5 - 5&)
el s8IIAS JIetEY (Crel: &)
SA - FH . SRI(B) - HIRAY - BAS il b ] Hl D=2
206 =0l 9,000 8,000 1,000
=2 3,600
5 1,620
Al 3,780
01 Mzl 9,000 8,000 1,000
OsIIH SaHER 7L
100,000 *90CH 9,000
=2 3,600
S 1,620
Al 3,780
()= HEnE X 30,000 21,000 9,000
= 15,000
[ 4,500
Al 10,500
201 ZBr2g| 15,000 6,000 9,000
= 7,500
S 2,250
Al 5,250
01 AFR2relH] 15,000 6,000 9,000
OSIIH HHDS DM
15,0002+ 1,000 15,000
= 7,500
S 2,250
Al 5,250
206 =0l 13,720 12,200 1,520
=2 6,860
[ 2,058
Al 4,802
01 M2t 13,720 12,200 1,520
SN HELE M2
13,720,000 % 14! 13,720
=2 6,860
S 2,058
Al 4,802
301 LEHENZ 1,280 2,800 A1,520
= 640
S 192
Al 448
11 SAAHIXI 22 1,280 2,800 1,520
OS2I AAHNS &2AX B4
8,00021x80H*2 kS 1,280
=2 640
S 190
Al 448




A

X‘liH:

=) |=HIE

LO-iD:!JEHE:i %OI:gF

X
2IIAIs DBty

|SAR (SRHY L/ 5 - 5E)

cHe: (cre| xel)
SA - A SR(B) - AIRAI - BAS o vy ] bl D2
() UEESIXE 9,000 0 9,000
= 4,500
= 1,350
Al 3,180
405 Kot =8| 9,000 0 9,000
= 4,500
= 1,350
Al 3,150
01 ML= EF = 9,000 0 9,000
ORSE SIH(0IA1) P
9,000,000 1CH 9,000
= 4,500
& 1,350
Al 3,180
(Z2)sI 1AL AL AIE R 45,600 43,200 2,400
s 13,680
Al 31,920
101 el24H| 45,600 43,200 2,400
< 13,680
Al 31,920
04 JIZtHI22 NS 45,600 43,200 2,400
OsJ12 ARG A IE XA
1,900,00024 2% 128 45,600
s 13,680
Al 31,920
(Z)BA8sIHS= 630,000 510,000 120,000
< 189,000
Al 441,000
402 RIZHAH=01A 630,000 510,000 120,000
s 189,000
Al 441,000
02 QI2tXHZ2 ALY (OIETHE) 630,000 510,000 120,000
OsA8sIH S=AE
2,000, 000&*610CH*50/100 610,000
= 183,000
Al 427,000
Oogaga=s U= 7
20,000,000 +2CH*50/100 20,000
= 6,000
Al 14,000
(Z)sZYUHEXIZ 140,000 140,000 0
= 42,000
Al 98,000
402 2IZHA=01 140,000 140,000 0




A

X XH -
(=

=PIl

ggggé‘# SEAF X _|‘:_)\|.%-I(_‘.—_EI6HOI:_J'\_/\I»/_‘5_%“ . _‘.—__55_)

ool =ebidst JMEs T (crs]: m2l)
SA - A SR(B) - AIRAI - BAS o vy ] bl D2
< 42,000
Al 98,000
NN EEENEIED) 140,000 140,000 0
OSZAHE R A
200,000,000 174 A+70/100 140,000
[ 42,000
Al 98,000
A SHAH (=X ) (JIEHIIE 148,244 137,781 10,463
ol 2| 41,720 33,537 8,183
REEEE] 41,720 33,537 8,183
101 Q124H] 40,040 32,014 8,026
02 JIEFRIE 4 40,040 32,014 8,026
OSIIH LUiS2| Al 20124 (AIZHIE DX
0r2) 40,040
—Jiez 2,537,500+ 12122 30,450
—XU2R%E
10,0002 %20 Al 2b+ 12 122 2,400
—ZHZAlY| 140,000+ 1+ 122 1,680
— It A|
2,537 50024 x84%+86%+1/30% 1/7+84 A1 2 734
—QEaesc 40,0002+ 122 480
—S4XDAG 130,0002* 12 1,560
—SuHE 228,000+ 12128 2,736
204 Z 24 AHH| 1,680 1,523 157
02 ZZ2EXH| 1,680 1,523 157
OSIIH Ltid2| Al 20124 (AIZHIE DI H|
0t3)
160,000 %35/40h+ 12 122 1,680
J1=3H| 106,524 104,244 2,280
J1=2ZH| 106,524 104,244 2,280
201 L2 A 28,974 26,694 2,280
01 AF22t2IHI 28,974 26,694 2,280
O=ARII(M) 7Y
20,0002 % 162t Ax 122 3,840
OS201AH| 8,000 +6A! %198 % 122 10,944
Ogbte2 100,000 * 122 1,200
OARE TARH| 50,000 122 600
OARD 24 8,120
—=2AD| $2l(HE) 1,000, 00024 *1CH 1,000
—ZglEI| =el 100, 000 *2H 200
—=ADI(Ze) EY
200,000 %53 *1CH 1,000
—Z2IEDI(EY) E
200,000 +53| *4CH 4,000




FA: sI|ISHEH
M HEHS2UAH|(=
el D123

EXE) (OIEHIIEH

SA - A SR(B) - AIRAI - BAS o vy ] bl D2
—IelF)(ZY) Ed
200,0002%55]1CH 1,000
—PC 22l 100,000 *16CH*20/ 100 320
—DIEH 22l 50,0002 122 600
OJIEF AFREEH] 5,00024 19 * 122 1,140
EIPI=\E=bES 3,130
—SARX(M) 7L
20,0002+32t A 128 720
— etz 100, 000 *3IH A 300
—ARD 4] 2,110
SAD| 2l(AH)
500,000 % 1CH*1IH A 500
2 2
100, 0002 *3JH A *50/ 100 150
SAD(SY) &
200,000 %23 1CH 400
C ORI EU(2Y)
200,000 %25 *1CH 400
C =cl 100, 00024*3CH*20/ 100 60
- JIE 221 50,0002 122 600
202 04| 73,350 73,350
ENCE 73,350 73,350 0
OsZEXED AREX O 63,360
—ZHH oA 20,0002+ 162122+ 122 46,080
— 22|04l 90,000 * 163 * 122! 17,280
Os=Qolatet XIRRA HAREE 0| 9,990
— 204l 20,0002 +3%*122* 122 8,640
— 22| 04H| 90,000 x3% x5! 1,350
203 AR 4,200 4,200 0
04 BA2IAR2ETH| 4,200 4,200 0
ORNSUARZE|(SEXC L)
350,000 %12 4,200
= |EEZ (sl YS/ =Y - 55) 1,622,053 496,343 1,125,710
= 55,450
p) 6,849
[ 431,500
Al 1,128,254
DEE AZES MM I 223 1,622,053 496,343 1,125,710
= 55,450
p) 6,849
[ 431,500
Al 1,128,254
DEE AZMA ALY 205,018 56,100 148,918
101 21241 4,618 0 4,618




2A:

EPlEll=

M S)|2LE3(SEHLSPA/ Y - 55)
CHel: DEE AXS MM J|22Z (crel: :2l)
S - EE - 9I(30) - HIRAI - BES ol &kt ] B2t
04 IRHHZ2XEES 4,618 0 4,618
ORAE J|2A2 MAL 2% 018
76,9602 x2H*30L 4,618
201 LB 8,100 3,300 4,800
01 AbR2t2IHI 8,100 3,300 4,800
Ogd ds 228 342 HE
50,0002 % 107H*23] 1,000
OAIURIZ2 A|HAIY 2HE HI=
500,00024*27H A 1,000
O==2 Yils 9H L H2X Mz
5002%2, 0005 1,000
OsSEXCAIY 2 M= 2
30,00024*102 300
OgtAlE 2! IEFr 2l
3,000,0002* 14! 3,000
Ogd 9= MuiJlz s i M=
3,000+ 100263 1,800
206 M=l 50,500 52,800 A2,300
01 M2HI 50,500 52,800 2,300
OSAE] MASK X4 W2 2
600, 0002 *60ha 36,000
ORAH EX ZAE =4 HE 7Y
3,000,0002*2ha 6,000
ORAE J|2A8 MMT I8 |2 22
5,000,0002* 1HA 5,000
ODNEZE W =X 4818 WEHK X4 HE Y
700,0002*5ha 3,500
207 AR 3,000 3,000
03 AIE i 3,000 3,000
OAIURZ220F AZAIE
1,000,0002+3% = 3,000
301 YEIEXZ 103,800 0 103,800
EEREE 1,800 0 1,800
Ogd ds MHIDIE Ng FAX 2HAH|
3,00021%1002+63] 1,800
14 J|EtE A2 102,000 0 102,000
SAER AHACER] S0 Eed2
1,5002420kg*3, 000 90,000
ORAE BA SAZ L0 242
2,00024*20kg*300 L 12,000
402 QIZHRH=0(E 35,000 35,000
01 DIZEXH= AR E X (XA THE) 35,000 0 35,000
OLE2 2 S20MD| T AIE(BXE 70%)
,000, 0002 *5ha*5IH A+70/ 100 35,000
EEAFA 29 56,930 29,922 27,008
101 Q124H 20,010 16,122 3,888




2A:

EPlEll=

Y S22 (SEHYNN/ Y - 5&)
CH9: DBE AMUNES MO )|ISEZ (crel: :2l)
S - EE - 9I(30) - HIRAI - BES ol &kt ] B2t
04 JRIR22XEES 20,010 16,122 3,888
OZE2AFA 298X 012
76,9602 % 1%4%260 20,010
201 LEr2%| 12,620 13,800 A1,180
01 ALR2H2IH] 4,620 7,300 2,680
OXHEEH 2 900,000 *23] 1,800
OS4ALATH| 42
80,00021%4 2% 13| 320
O=AEX 2 200,000 %33 600
OARES +& 10,00021%205+23] 400
OAIBIMEZA o 21BS M
1,50024%1,0005 1,500
02 S22 8,000 6,500 1,500
OZEZHA S22/
2,000,00024*1HS 2,000
OEYANE 2LFH X242/
200,000 #5433 3,000
OZEHHA HIIS A2l
3,000,00024%13] 3,000
401 Al HI 2= THY] 22,000 0 22,000
01 Al&ZHI 22,000 22,000
OZsAFA 2|292 A
22,000,0002* 14} 22,000
405 THAHE SHI 2,300 0 2,300
01 XML SBEFSHI 2,300 0 2,300
OABIIXHY MG 2
1,150, 00024 %2H 2,300
ZIEH 0142 YA 2 337,3% 317,572 19,784
101 o124H] 40,020 14,656 25,364
04 IRAR2Z2ISES 40,020 14,656 25,364
OFISA0|IMES HIAHE RIEXE 012
76,9602 %22 %2602 40,020
201 LBr2 ] 78,636 77,916 720
01 AL 22| 7,800 6,000 1,800
O2% 2 U A MF
2,0002%1,5005 3,000
OXNSZ2HI S8 3= 7Y
12,0002%250% 3,000
OMSES +& 10,00021%105+43] 400
OHHLEH| P IIIRAS| BItg
200,0002+7 1,400
02 S22 70,836 71,916 1,080
OF&A DIMS BILHIE S22l
1,500,00024%1HS 1,500
Onlds AEEH |22l
100,000 *10CH*23] 2,000




A

EPlEll=

HH: S| 3(sYilYsb/sY - 5&)
CHel: DEE AXS MM J|22Z (crol: ®S1)
S - EE - 9I(30) - HIRAI - BES ol &kt ] B2t
O LZHIAIAE X2t/
2,500,000 %7 CH 17,500
oMIr= 4,000,000&* 1201 48,000
OD|M2S HILEHl RRHI(FR)
1,81024%300L 543
OQIHYl AI222 30,000 %1200 360
O4a= 94| 77,7202 %1200 933
206 XHEH] 164,000 165,000 A1,000
01 XHEHl 164,000 165,000 A1,000
O0|MS IS BHXI P&
800,000 *2003 160,000
OD|MS HHY AR 2L
200,000 x5 43 4,000
207 SIRIHEH 54,000 60,000 6,000
03 A& S| 54,000 60,000 6,000
ODlME ASAIE WX 22
600, 00024503 30,000
OB DA 2 HIHHY 27
200,000 +6Z+103] 12,000
OET & 45T W27
200,000 *65+ 103 12,000
301 YEEAS 700 0 700
11 BALAHIXIS 700 700
OB AP BIFIRE ol
100,000 +7 2 700
(R)sE=42d 2N A(ELAT) 29,000 29,000 0
= 14,500
Al 14,500
101 QI24H] 14,800 14,000 800
= 7,400
Al 7,400
M IIAR2E2NEES 14,800 14,000 800
OEAA I e
14,800,000+ 14! 14,800
= 7,400
Al 7,400
206 HEH] 14,200 15,000 800
= 7,100
Al 7,100
01 XHEHl 14,200 15,000 800
OEUAN ADE L A2 0
14,200,000+ 14! 14,200
= 7,100
Al 7,100
(R)=L=E2ISESREFNE) 2 6,849 6,849 0




A

EPlEll=

HM: =) (sMHLSN/ =2 - =55)
CHel: DEE AXS MM J|22Z (chol: <)
S - EE - 9I(30) - HIRAI - BES ol &kt ] B2t
D] 6,849
206 M=l 6,849 6,849 0
p) 6,849
01 M2HI 6,849 6,849 0
OELHE Mz 74 6,849,000 * 1Al 6,849
p) 6,849
(2)=z2 golls oa 29 12 18,000 18,000 0
= 9,000
Al 9,000
206 M=l 4,000 12,000 8,000
= 2,000
Al 2,000
01 M2HI 4,000 12,000 8,000
OHlls xctal & oZ2Z 29 2
4,000,000+ 14! 4,000
= 2,000
Al 2,000
401 A& HIL 2 0HY| 12,000 3,000 9,000
= 6,000
Al 6,000
01 Al&HI 12,000 3,000 9,000
OYiE HZE AlE B2
12,000,000 14! 12,000
= 6,000
Al 6,000
405 KHAHEEH 2,000 2,000 0
= 1,000
Al 1,000
01 AL 2EF SH 2,000 2,000 0
OYallE oIZE LH =Yl 2L
2,000,0002 % 14! 2,000
= 1,000
Al 1,000
(2)=z2 Yol 22X 29 1 3,900 3,900 0
= 1,950
Al 1,950
206 HEH] 3,900 3,900 0
= 1,950
Al 1,950
01 M=HI 3,900 3,900 0
Olls 22T 2F(H, D=, At
300, 0002 * 137 A 3,900
= 1,950
Al 1,950




A

EPlEll=

NE =e|ER (S SY - 5E)

ool DEE AYRS M |23 (cro): xi2)
S - EE - 9I(30) - HIRAI - BES ol &kt ] B2t
(2)sgeDIsAg(AEEA NS =) 60,000 0 60,000

= 30,000
Al 30,000
206 =4l 20,000 0 20,000
= 10,000
Al 10,000
01 M=Hl 20,000 0 20,000
O=&8Ed DU=sS 0138 238 ofls
BIXl AD|E Al 20,000,000 % 14! 20,000
= 10,000
Al 10,000
402 I2EAFE01M 40,000 0 40,000
= 20,000
Al 20,000
02 QI EAAE X (01X ) 40,000 0 40,000
OLUZE =2 M4 28t DI dUE8 &
AXD|l=E B2 40,000,000 170 2 40,000
= 20,000
Al 20,000
(Z)=z= Hals oz g 22 30,000 30,000 0
L= 9,000
Al 21,000
101 el244| 16,800 20,000 A3,200
& 5,040
Al 11,760
04 JIZtMIZ2Z2 XS 2+ 16,800 20,000 23,200
Osf= golls 2ay 2E2Ex
16,800,000 * 14 16,800
L= 5,040
Al 11,760
201 et | 4,500 2,000 2,500
& 1,350
Al 3,150
01 AtR2eldl 4,500 2,000 2,500
Osxg Hills LU U=y
3,000,000 * 14 3,000
& 900
Al 2,100
OYHE 28 AIREE 7
1,000,000 * 1A 1,000
& 300
Al 700
OgoliEs &Ml =2 M=
500,000 *14! 500
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EPlEll=

M sl (st =Y - 5&)
o2 NEE AAZ MM J|l=Eg (cHol: x4 9))
S - EE - 9I(30) - HIRAI - BES ol &kt ] B2t
& 150
Al 350
202 04| 2,000 0 2,000
= 600
Al 1,400
01 2LHOHI 2,000 0 2,000
Ogoli= olE ol 2,000,000 %Al 2,000
& 600
Al 1,400
206 =8| 6,700 8,000 21,300
& 2,010
Al 4,690
01 M=t 6,700 8,000 1,300
s&N2 Holls 2Hl MHE 2
6,700,000& *14! 6,700
& 2,010
Al 4,690
(D)2 EHEHESHEMMASUS 5,000 5,000 0
& 1,500
Al 3,500
206 =4l 3,500 5,000 21,500
== 1,050
Al 2,450
01 Ml 3,500 5,000 A 1,500
Os&= dols oz Me 2
3,500,000 14 3,500
& 1,050
Al 2,450
301 YErEXZ 1,500 0 1,500
& 450
Al 1,050
14 J|Et2 432 1,500 0 1,500
ASUAE =Y 100,000 x5 3«32 1,500
& 450
Al 1,050
(D)MSXNSNERMAG D= 70,000 0 70,000
< 21,000
Al 49,000
402 QIZEXHE0IH 70,000 0 70,000
& 21,000
Al 49,000
02 QIR AL S A (0| HTHE ) 70,000 0 70,000




2A: sIIs4H

[ S|SB (STHSSA/ S - &)
Chel: DEX AZXS MA )|=23 (crof: 221
S - EE - 9I(30) - HIRAI - BES ol &kt ] B2t
O3= =4 A=3 bl Wl 2 Mets ol =4
100,000,000 % 1A1%70/ 100 70,000
[ 21,000
Al 49,000
(D) N =ENC A E A (AR (R EAL) 800,000 0 800,000
= 400,000
Al 400,000
405 Ko SH] 800,000 0 800,000
= 400,000
Al 400,000
01 AHAIYSEF S| 800,000 0 800,000
OBHEHIAIAE! )
600,000, 0002+ 1Al 600,000
= 300,000
Al 300,000
OEY 24=Y| g
200,000, 0002 % 1Al 200,000
= 100,000
Al 100,000
oD BN (SN LT A/ sS - ==) 432,753 459,210 726,457
2 20,000
Al 412,753
NEESSISIESED 405,698 428,285 N22,587
2 20,000
Al 385,698
o7, A&, ABAY 240,784 151,614 89,170
101 21 24d] 63,109 8.794 54,315
04 A2 2 XSS 63,109 8,794 54,315
OSIR, AIE, ASAY Ztef olgol 63,109
—X|o=g AZSAE
76,9602 %321* 120 27,706
—nsteis Alae
76,960 21224 x80 12,314
—ASAEE L ZAR
76,9602 %2 2 *70 10,775
—ROtoEE THHIAIE & 242
76,960 21+224x80 12,314
201 LBr2g] 20,650 19,620 1,030
01 AlRZeld] 2.560 2,560 0
O%R, AIE, AE Z& 1,200
—AmE 20,00021%20% 400
—S2E 50,0008 %105 500
—U=z 150,000 %25 300
OEXR|Y H=
100,000 *5%H+13] 500
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EPlEll=

HIM: SIS (sHLSN/ =2 - 55)
CHelr X osQ Jlaofe (CHol: M2l
S - EE - 9I(30) - HIRAI - BES ol &kt ] B2t
OZzaze|d &5t
100,000 *5%H 13 500
OF=J| 2e &2l 60,0002 *2CH*33] 360
02 2229 18,090 17,060 1,030
OANEE 29 s *FH 2,770
—3% 1,810=%1,0002E 1,810
—3e 1,92024%5002 E 960
OICT ADIER 412 50,0002 122 600
OANEEHL 212 KXY
600,000 * 122 7,200
OsI1H KXY 1,700
—E2ug 500, 0002+ 1CH 500
—2c| 200,000+ 1CH 200
U ES 200, 0002 +5LH 1,000
Z=ZH| KXY 2,100
—3lo! S2E 700,0002*1CH 700
—A3|24 7000002 *1CH 700
—=224) 700, 000241 CH 700
OXH=ANLHEH A=
155,000 %23 * 12 3,720
206 M=l 4,600 4,600 0
01 M2HI 4,600 4,600
OAIREES AFSHI 2,100
—S2AE 12,0002/%150% 1,800
—gdH S MSHE 60,000 %53 300
OSR, A8, AT 29 2,500
— AR 9 95
20,0002 *10Z+53] 1,000
— A= 10,000 *5E+53) 250
